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PDOL\HWOHULQ� SODQODQPDVÕ�� NRQWURO�� YH� \|QHWLPLQH� GX\XODQ� JHUHNVLQLP� GH�DUWPÕúWÕU�� %X� oDOÕúPDGD�� JOREDO� UHNDEHW� RUWDPÕQGD� GDKD� VD÷OÕNOÕ� NDUDUODU�DOPD\D� \|QHOLN� ELU� \DNODúÕP� RODQ�� 0DPXO� <DúDP� 6H\UL� 0DOL\HWOHPH�
\DNODúÕPÕQGD��PDOL\HW�\|QHWLPLQLQ�EDúDUÕ\OD�VD÷ODQDELOPHVL�LoLQ�<DúDP�6H\UL�0DOL\HW� $QDOL]LQLQ� QDVÕO� \DSÕOPDVÕ� JHUHNWL÷L� NRQXVX� DoÕNODQPD\D�oDOÕúÕOPÕúWÕU��
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0DPXO�<DúDP�6H\UL�0DOL\HWOHPH��<DúDP�6H\UL�0DOL\HW�$QDOL]L��/LIH�&\FOH��/LIH�&\FOH�&RVW�$QDO\VLV��
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HWNLOH\HQ� IDNW|UOHUH� LOLúNLQ� D\UÕQWÕOÕ� ELOJLOHUH� VDKLS� ROPDODUÕ� JHUHNPHNWHGLU��<|QHWLFLOHU��NHQGL�DOGÕNODUÕ�NDUDUODUÕQ��PDOL\HWOHUL�QDVÕO�HWNLOHGL÷LQL�YH�PHYFXW�PDOL\HWOHULQ� LVH� QDVÕO� GH÷LúWLULOPHVL� JHUHNWL÷L� NRQXVXQGD� HWNLQ� PDOL\HW�ELOJLOHULQH�JHUHNVLQLP�GX\DUODU��
� *HOHQHNVHO� PDOL\HW� \|QWHPOHUL� LOH� NDUúÕODúWÕUÕOGÕ÷ÕQGD�� 0DPXO� <DúDP�6H\UL�0DOL\HWOHPH�\|QWHPLQLQ��0<60��HQ�EHOLUJLQ�|]HOOL÷LQLQ�³HWNLQ�PDOL\HW�ELOJLVL´ �UHWPHN� ROGX÷X� J|U�O�U�� 0DOL\HW� ELOJLVLQLQ� HWNLQOL÷L� LOH�� PDOL\HW�ELOJLVLQLQ�\|QHWLPLQ�NDUDUODUÕQGD�HWNLQ�ROPDVÕ�YH�EHOLUOH\LFL�ELU�HWNL\H�VDKLS�ROPDVÕ� LIDGH� HGLOPHNWHGLU�� =DPDQD� NDUúÕ� \DUÕúÕODQ� ELU� RUWDPGD� \HQL�PDPXOOHULQ� G�ú�N�PDOL\HWOH�� \�NVHN� NDOLWHGH� YH� KÕ]OÕ� ELU� ELoLPGH� SL\DVD\D�VXQXOPDVÕQÕ� VD÷OD\DFDN� ELOJLOHULQ� �UHWLOPHVL� YH� EX� ELOJLOHULQ� \|QHWLP�NDUDUODUÕQGD� NXOODQÕOPDVÕ� LúOHWPHOHUH� |QHPOL� ELU� UHNDEHW� DYDQWDMÕ�VD÷OD\DFDNWÕU���
�

����0$/ø<(7� <g1(7ø0ø� 9(� 0$08/� <$ù$0� 6(<5ø�� 0$/ø<(7/(0(�<g17(0ø1ø1�ø/øù.ø6ø�
����� YH� ����¶OÕ� \ÕOODUGD�� UHNDEHW� NRúXOODUÕQÕQ� JLGHUHN� DUWPDVÕ� YH�EXQXQ�ELU�VRQXFX�RODUDN�NDU�PDUMODUÕQÕQ�JLGHUHN�D]DOPDVÕ��R�\ÕOODUGD�PDOL\HW�NRQWURO�QH� YHULOHQ� |QHPL� DUWÕUPÕúWÕU�� $QFDN�� ����¶OL� \ÕOODUD� \DNODúÕOÕUNHQ�JHUHN��UHWLP�WHNQRORMLOHULQGH�\DúDQDQ�JHOLúPHOHU�YH�JHUHNVH�UHNDEHWLQ�JOREDO�KDOH� JHOPHVL�� JHUoHNOHúHQ� ILLOL� PDOL\HWOHUOH� |QFHGHQ� EHOLUOHQHQ� PDOL\HWOHULQ�NDUúÕODúWÕUÕOPDVÕ� LONHVLQH� GD\DQDQ� PDOL\HW� NRQWURO�� \DNODúÕPÕQÕQ� DúÕODUDN��PDOL\HWOHULQ� HWNLOHQPHVL� ER\XWXQXQ�� \DQL� PDOL\HW� \|QHWLPL� \DNODúÕPÕQÕQ�RUWD\D�oÕNPDVÕQD�QHGHQ�ROPXúWXU��
%X� JHOLúPHOHU� J�Q�P�]�Q� LúOHWPH� NDUDUODUÕQGD� GD� NHQGLVLQL�J|VWHUPLú� ROXS�� J�Q�P�]�Q� LúOHWPH� NDUDUODUÕQÕQ� QLWHOL÷L� ����� YH� ����¶OÕ�\ÕOODUÕQ�LúOHWPH�NDUDUODUÕQÕQ�QLWHOL÷LQGHQ�ROGXNoD�IDUNOÕ�ELU�ER\XW�ND]DQPÕúWÕU��*HoPLúWH�� PXKDVHEH� ELOJL� VLVWHPL� WDUDIÕQGDQ� �UHWLOHQ� ELOJLOHU� LOH� EXJ�Q�LVDEHWOL� NDUDUODU� DOÕQPDVÕQD� RODQDN� NDOPDPÕúWÕU�� %X� QRNWDGD�� JHOHQHNVHO�PXKDVHEH�ELOJL�VLVWHPLQLQ�\HWHUVL]OLNOHULQL�JLGHUPHN��\|QHWLFLOHUH�]DPDQÕQGD�YH�DPDFD�X\JXQ�ELOJL�VD÷ODPD\Õ�KHGHIOH\HQ�PDOL\HW�\|QHWLPL�\DNODúÕPODUÕQÕQ�RUWD\D�DWÕOGÕ÷Õ�J|U�OPHNWHGLU���

� 0DOL\HW� \|QHWLPL� NDYUDPÕ�� PDOL\HW� PXKDVHEHVLQH� J|UH� GDKD� JHQLú�NDSVDPOÕ� ELU� NDYUDP� ROXS�� PDOL\HW� PXKDVHEHVL� WDULKL� ELU� SHUVSHNWLIH�GD\DQDUDN� PDOL\HWOHULQ� UDSRUODQPDVÕQD� RGDNODQPÕúNHQ�� PDOL\HW� \|QHWLPL��PDOL\HWOHULQ�SODQODQPDVÕ��\|QHWLPL�YH�NRQWURO�QGH�DNWLI�ELU�URO��VOHQPLúWLU��
(Q� EDVLW� DQODPÕ\OD� PDOL\HW� \|QHWLPL�� G�ú�N� PDOL\HWWH� GDKD� ID]OD�P�úWHUL� GH÷HUL� \DUDWPDN� LoLQ� ROXúWXUXODQ� ELU� IHOVHIH�� GDYUDQÕú� ELoLPL� YH�\|QWHPOHU� GL]LVLGLU�� 0DOL\HW� \|QHWLPL�� ELU� LúOHWPHQLQ� PDOL\HWOHU� DoÕVÕQGDQ�

�
� 5HúDW�.$5&,2ö/8��6WUDWHMLN�0DOL\HW�<|QHWLPL��0DOL\HW�YH�<|QHWLP�0XKDVHEHVLQGH�<HQL�<DNODúÕPODU��$NWLI�<D\ÕQHYL��(U]XUXP�������V������� $OL� .$57$/�� $GQDQ� 6(9ø0�� +�� (UGLQ� *h1'h=�� 0DOL\HW� 0XKDVHEHVL�� $QDGROX�hQLYHUVLWHVL�<D\ÕQODUÕ��(VNLúHKLU�������V�������� .$5&,2ö/8������
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HWNLQOL÷LQL� JHOLúWLUHELOPHN� LoLQ� |QFHOLNOHULQ� EHOLUOHQPHVLQL� YH� NDUDU�DOÕQPDVÕQÕQ� \DQÕ� VÕUD�� PDOL\HWOHUL� HWNLOH\HQ� IDNW|UOHUH� LOLúNLQ� WHPHO� ELOJL\L�VD÷ODU�� 0DOL\HW� \|QHWLPL�� W�P� PDOL\HWOHULQ�� \|QHWLPLQ� DOGÕ÷Õ� NDUDUODU�VRQXFXQGD� RUWD\D� oÕNWÕ÷ÕQÕ� NDEXO� HGHU� YH� ELU� NDUDU� DOÕQPDGDQ� |QFH� KDUHNHW�HGHUHN��\|QHWLFLOHUH�NDUDUODUÕ�VRQXFXQGD�ROXúDFDN�PDOL\HWOHUL�VXQDU��%LU�EDúND�LIDGH� LOH�� PDOL\HW� \|QHWLPL� PDOL\HWOHULQ� NHQGLOL÷LQGHQ� ROXúPDGÕ÷ÕQÕ� NDEXO�HWPHNWHGLU��
0DOL\HW�\|QHWLPL��\|QHWLFLOHU�YH�GL÷HU�LOJLOLOHULQ�NÕVD�YH�X]XQ�YDGHGH�NHQGL� SODQODPD� YH� NRQWURO� IRQNVL\RQODUÕQÕ� \HULQH� JHWLULUNHQ� RUWD\D� oÕNDQ�PDOL\HW�J|VWHUJHOHUL�LOH�SHUIRUPDQVODUÕQÕ�|OoPH\H�\DUD\DQ�ELU�\DNODúÕPGÕU���
0DOL\HW� \|QHWLPL� NDYUDPÕ�� HVDV� LWLEDUL\OH� PDOL\HW� YH� \|QHWLP�PXKDVHEHVLQGH� RUWD\D� oÕNDQ� \HQL� JHOLúPHOHU� ROXS�� PHYFXW� VLVWHPOHULQ� EX�JHOLúPHOHUH� SDUDOHO� RODUDN� \HQLGHQ� HOH� DOÕQPDVÕGÕU�� %LU� EDúND� LIDGH� LOH��PDOL\HW� \|QHWLPL� NDYUDPÕ� LOH�� PDOL\HW� YH� \|QHWLP� PXKDVHEHVLQGH� RUWD\D�oÕNDQ� ELU� GL]L� \DNODúÕPÕQ� ROXúWXUGX÷X� ³PDOL\HW� \|QHWLP� VLVWHPL´ LIDGH�HGLOPHNWHGLU�� 0DOL\HW� YH� \|QHWLP� PXKDVHEHVL� DODQÕQGD� RUWD\D� oÕNDQ� EX�JHOLúPHOHU�WHPHO�RODUDN�úX��o�DPDFÕ�JHUoHNOHúWLUPH\H�\|QHOLNWLU��
%XQODU��

9 *OREDO� UHNDEHW� RUWDPÕQGD� GDKD� VD÷OÕNOÕ� NDUDUODU� DOPD\Õ�NROD\ODúWÕUPDN��
9 .D\QDN�NXOODQÕPÕQGD�ND\ÕSODUÕ�D]DOWDUDN�HWNLQOL÷LQ�DUWÕUÕOPDVÕ�YH�
9 0DPXO� \D� GD� KL]PHWOHULQ� PDOL\HWOHULQLQ� GDKD� VD÷OÕNOÕ� RODUDN�KHVDSODQPDVÕGÕU��

<XNDUÕGD� VD\ÕODQ� EX� �o� WHPHO� DPDo�� PDOL\HW� \|QHWLPL� VLVWHPLQL�E�W�QOH\HQ� \DNODúÕP� YH� \|QWHPOHULQ� JHOLúPHVLQH� HVDV� WHúNLO� HGHQ� RUWDN�DPDoODUÕ� J|VWHUPHNWHGLU�� ho� DPDo� GD� ELUELUL\OH� HWNLOHúLPOL� YH� KHU� ELUL�� ELU�GL÷HULQL� WDPDPOD\DQ�� E�W�QOH\HQ� DPDoODUGÕU�� 0DOL\HW� \|QHWLP� VLVWHPLQLQ�WHPHO� DPDFÕ�� ³G�Q\D� SD]DUODUÕQGD� ]DPDQODPD�� PDOL\HW�� NDOLWH� YH�IRQNVL\RQHOOLN� DoÕVÕQGDQ� UHNDEHW� HGLOHELOLU� PDPXO� \D� GD� KL]PHW� �UHWLPLQGH��
ND\QDNODUÕQ� YHULPOL� NXOODQÕPÕ� LoLQ�� \|QHWLFLOHUH� \DUGÕPFÕ� RODFDN� ELOJLOHUL�VD÷ODPDN´ úHNOLQGH�LIDGH�HGLOPHNWHGLU��

0DOL\HW� \|QHWLP� VLVWHPLQL� E�W�QOH\HQ� YH� \XNDUÕGD� EHOLUWLOHQ� �o�WHPHO� DPDFÕ� VD÷ODPD\D� \|QHOLN� RODUDN� JHOLúWLULOHQ�� 'H÷HU� <DUDWPD\DQ�)DDOL\HWOHULQ� 2UWDGDQ� .DOGÕUÕOPDVÕ�� *HOLúWLULOPLú� 0DOL\HW� 7DNLEL�� g÷UHQPH�(÷ULOHUL��7RSODP�.DOLWH�<|QHWLPL��7DP�=DPDQÕQGD�hUHWLP��)DDOL\HW�(VDVÕQD�'D\DOÕ� 0DOL\HWOHPH�� YH� +HGHI� 0DOL\HWOHPH� JLEL� \DNODúÕPODUÕQ� \DQÕ� VÕUD�
�
� +�� (UGLQ� *h1'h=�� dHWLQ� $.$5�� 1HUPLQ� g=*h/%$ù�� 6DLPH� g1&(�� 6D÷OÕN�NXUXPODUÕQGD� 0DOL\HW� <|QHWLPL�� $QDGROX� hQLYHUVLWHVL� <D\ÕQODUÕ�� <D\ÕQ� 1R�� ������(VNLúHKLU�������V������� .$5&,2ö/8������� 1DVXKL� %856$/�� <�FHO� (5&$1��0DOL\HW� 0XKDVHEHVL�� $QDGROX� hQLYHUVLWHVL� <D\ÕQODUÕ��(VNLúHKLU�������V�������� 0�QLU� ù$.5$.�� 0DOL\HW� <|QHWLPL�� 0DOL\HW� YH� <|QHWLP� 0XKDVHEHVLQGH� <HQL�<DNODúÕPODU� øVWDQEXO�������V������
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PDOL\HWOHULQ�RUWD\D�oÕNPDGDQ�\|QHWLOPHVL�LONHVLQH�GD\DQDQ�GL÷HU�ELU�\DNODúÕP�GD�0DPXO�<DúDP�6H\UL�0DOL\HWOHPH�\DNODúÕPÕGÕU��
0<60� \|QWHPL�� \XNDUÕGD� EHOLUWLOHQ� DPDoODUGDQ� GDKD� oRN� ELULQFL�DPDFD�� \DQL� ³JOREDO� UHNDEHW� RUWDPÕQGD� GDKD� VD÷OÕNOÕ� NDUDUODU� DOPD\D´�\DUGÕPFÕ�RODQ�ELU�\DNODúÕP�ROXS��WHPHO�DPDFÕ�\DSÕODQ�\DWÕUÕP�YH\D�NXOODQÕODQ�ND\QDNODU� �]HULQGHQ� P�PN�Q� ROGX÷X� NDGDU� X]XQ� ELU� V�UH� ER\XQFD�\DWÕUÕPFÕ\Õ�WDWPLQ�HGHFHN�ELU�JHOLUL�VD÷OD\DELOPHNWLU��
0<60� \|QWHPL�� LúOHWPHGH� �UHWLOHQ�PDPXOOHULQ� IDUNOÕ� \DúDP� VH\UL�DúDPDODUÕQGD�RUWD\D�oÕNDQ�PDOL\HWOHUL�GDKD��UHWLP�EDúODPDGDQ�J|UPH\H�\D�GD�J|VWHUPH\H� oDOÕúDQ�� EDúND� ELU� LIDGH� LOH� PDPXO�Q� WRSODP� \DúDP� G|QHPL�SHUIRUPDQVÕQÕ� HWNLOH\HQ� XQVXUODUÕ� J|U�Q�U� KDOH� JHWLUHQ� ELU� \DNODúÕPGÕU�� %X�\DNODúÕPD�� \|QHWLFLOHUH� ELU� PDPXO�Q� W�P� \DúDPÕ� ER\XQFD� NDUúÕODúDFD÷Õ�PDOL\HWOHUL� DQODPD� YH� \|QHWPH� NRQXVXQGD� \DUDUOÕ� ELOJLOHU� VD÷ODPDVÕ�EDNÕPÕQGDQ�� PDOL\HW� \|QHWLPLQGH� HWNLQ� ELU� úHNLOGH� EDúYXUXODELOHFH÷L� LIDGH�HGLOPHNWHGLU��

����0$08/�<$ù$0�6(<5ø�0$/ø<(7/(0(�<g17(0ø1ø1�� )(/6()(6ø�
� 0<60� \|QWHPL�� X\JXODPDGD� GDKD� oRN� SD]DUODPD� VWUDWHMLOHULQLQ�EHOLUOHQPHVL� DPDFÕ\OD� NXOODQÕOPDNWDGÕU�� 3D]DUODPD� \|QHWLPL� JHQHOOLNOH�PDPXO�Q� \DúDP� VH\ULQL�� VXQXú� G|QHPL� LOH� EDúODGÕ÷Õ� YDUVD\ÕPÕQD�GD\DQGÕUPDNWDGÕU�� %|\OH� ELU� \DNODúÕP� SD]DUODPD� VWUDWHMLOHULQLQ� EHOLUOHQPHVL�YH� JHOLúWLULOPHVL� DoÕVÕQGDQ� \HWHUOL� RODELOLU�� $QFDN�� NRQX� PDOL\HW� \|QHWLPL�DoÕVÕQGDQ� HOH� DOÕQGÕ÷ÕQGD�� \HQL� PDPXO� SODQODPD� YH� WDVDUÕP� G|QHPOHULQLQ�DUWDQ� |QHPLQL� RUWD\D� oÕNDUPDNWDGÕU���� %X� QHGHQOH�� J�Q�P�]GH� �UHWLP�WDVDUÕPÕ�� PDPXO� JHOLúWLUPH� V�UHoOHUL�� �UHWLP� V�UHoOHULQLQ� DGDSWDV\RQX� YH�WDVDUODQDQ�PDPXO�Q�PDOL\HW�\|QHWLPL�� LúOHWPHOHU�DoÕVÕQGDQ��]HULQGH�|QHPOH�GXUXOPDVÕ�JHUHNHQ�NRQXODU�KDOLQH�JHOPLúWLU����

+HU� PDPXO�Q�� WÕSNÕ� E�W�Q� FDQOÕODUGD� ROGX÷X� JLEL�� V�UHVL� YH� úHNOL�|QFHGHQ� WDP� RODUDN� ELOLQHPH\HQ� ELU� \DúDP� G|QHPL� YDUGÕU�� %X� G|QHPOHU��VXQXú� DúDPDVÕ�� E�\�PH� DúDPDVÕ�� ROJXQOXN� DúDPDVÕ� YH� G�ú�ú� DúDPDODUÕQGDQ�ROXúPDNWDGÕU�� 0DPXO� \DúDP� G|QHPLQLQ� VXQXú� DúDPDVÕ�� PDPXO� SODQODPD��PDPXO� WDVDUÕP�� �UHWLPH� KD]ÕUOÕN�� �UHWLP� YH� VDWÕú� YH� ORMLVWLN� GHVWHN� JLEL� DOW�DúDPDODUGDQ� ROXúPDNWDGÕU�� *HOHQHNVHO� PXKDVHEH� \|QWHPOHUL�� GDKD� oRN�PDPXO�Q� ROJXQOXN� YH� G�ú�ú� DúDPDODUÕ� �]HULQGH� \R÷XQODúWÕ÷ÕQGDQ�� VXQXú�DúDPDVÕQÕ� ROXúWXUDQ� SODQODPD� YH� WDVDUÕP� JLEL� DúDPDODUÕ� LKPDO� HWPHNWHGLU��+DOEXNL��J�Q�P�]GH��WHNQRORMLN�JHOLúPHOHU�SDUDOHOLQGH�PDPXO�\DúDP�G|QHPL�NÕVDOÕUNHQ�� \HQL� PDPXOOHULQ� SD]DUD� V�U�OPHVLQGHNL� KÕ]� GD� DUWPÕúWÕU��
�
� %856$/�YH�<h&(/��������� 5HFHS�*h1(ù�� øEUDKLP�$.68��0DPXO�<DúDP�6H\UL�0DOL\HWOHPHVL� 6�OH\PDQ�'HPLUHO�hQLYHUVLWHVL��øNWLVDGL�9H�øGDUL�%LOLPOHU�'HUJLVL��&LOW����6D\Õ����������������� 0HYO�W�.$5$.$<$��hUHWLP�<DúDP� VH\ULQGHNL�'H÷LúLP�YH�6WDQGDUW�0DOL\HW� 6LVWHPL�0XKDVHEH�%LOLP�'�Q\DVÕ�'HUJLVL��&LOW����6D\Õ����1LVDQ�������V���������� hON�� (5*h1�� hU�Q� 7DVDUÕP� $úDPDVÕQGD� 8\JXODQDQ� 6WUDWHMLN� 0DOL\HW� <|QHWLPL�7HNQLNOHUL� 0XKDVHEH�YH�'HQHWLPH�%DNÕú��<ÕO����6D\Õ����ùXEDW�������V������
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%|\OHOLNOH�� WHNQRORML� PDOL\HWOHULQLQ� WRSODP� �UHWLP� PDOL\HWL� LoHULVLQGHNL�SD\ÕQÕQ�DUWÕúÕ\OD��\HQL�ELU�PDPXO�Q�WRSODP�\DúDP�G|QHPL�PDOL\HWLQLQ��������¶L� JLEL� E�\�N� ELU� E|O�P�� WDVDUÕP� YH� JHOLúWLUPH� DúDPDVÕQGD� ROXúPD\D�EDúODPÕúWÕU����
0DPXO� \DúDP� VH\UL� PDOL\HWOHPH� IHOVHIHVLQLQ� WHPHOLQGH�� PDPXO�Q�\DúDP�VH\ULQH�LOLúNLQ�W�P�DúDPDODUGD��LúOHWPH�\|QHWLFLOHULQLQ�DODFD÷Õ�RSWLPDO�SD]DUODPD� YH� �UHWLP� NDUDUODUÕ� LOH� LúOHWPH\H� PDNVLPXP� NDUÕ� VD÷ODPDN�\DWPDNWDGÕU�� 0DPXO� \DúDP� VH\UL� PDOL\HWOHPH� \|QWHPL�� PDPXO�Q� WDVDUÕP�DúDPDVÕQGDNL� PDOL\HWOHULQLQ� ELU� EDúND� LIDGH� LOH� PDPXO� �UHWLOPHGHQ� |QFH�NDWODQÕODQ� PDOL\HWOHULQ�� X]XQ� YDGHGH� NDUODUÕ� PDNVLPL]H� HGHFH÷L�� PDPXO�Q�\DúDPÕ� ER\XQFD� PDOL\HWOHUL� G�ú�UHFH÷L�� J|U�QPH\HQ� PDOL\HWOHUL� HQ� D]D�LQGLUHFH÷L� YH�PDNVLPXP�P�úWHUL�PHPQXQL\HWL� YDUVD\ÕPÕQD� GD\DQPDNWDGÕU��%X� QHGHQOH�� ELU�PDPXOOH� LOJLOL� RUWD\D� oÕNDELOHFHN�PDOL\HWOHULQ� \|QHWLPL� KHU�úH\GHQ� |QFH�PDPXOOH� LOJLOL� \DúDP� VH\UL� DúDPDODUÕQÕQ� EHOLUOHQPHVL� YH� GDKD�VRQUD� EX� DúDPDODUGD� RUWD\D� oÕNDELOHFHN� PDOL\HWOHULQ� KHVDSODQPDVÕQÕ�JHUHNWLUPHNWHGLU���� %X� \|Q�\OH�� 0<60� \|QWHPL�� LúOHWPHQLQ� \DOQÕ]FD�IRQNVL\RQHO�PDOL\HWOHUL��]HULQGH�GH÷LO�D\QÕ�]DPDQGD�LúOHWPHQLQ�VWUDWHMLOHULQL�VHoPH� oDOÕúPDODUÕ� �]HULQGH� GH� |QHPOL� ELU� DQDOL]� WHNQL÷L� RODUDN� NDUúÕPÕ]D�oÕNPDNWDGÕU����
0<60� \|QWHPL�� PDPXOOHULQ� \DúDP� G|QHPL� SHUIRUPDQVÕQÕQ�RSWLPL]DV\RQXQGD� LúOHWPHOHUH� oRN� \DUDUOÕ� ELOJLOHU� VD÷ODPDNWD� ROXS�� ELU�PDPXO�Q� WRSODP� NDUOÕOÕ÷ÕQÕQ�� R� PDPXO�Q� WDVDUÕP�� JHOLúWLUPH�� �UHWLP� YH�GHVWHN� JLEL� \DúDP� G|QHPLQLQ� W�P� DúDPDODUÕQGD� \DSÕODQ� WHUFLKOHUH� ED÷OÕ�ROGX÷X�ROJXVXQX�J�oOHQGLUPHNWHGLU���

���0$08/�<$ù$0�6(<5ø�0$/ø<(7ø�.$95$0,�
� 0DPXO� <DúDP� 6H\UL� 0DOL\HWL� NDYUDPÕQD� LOLúNLQ� \DSÕODQ� WDQÕPODU�LQFHOHQGL÷LQGH�� 0<60¶QLQ� LúOHWPH� \|QHWLPLQLQ� DPDoODUÕ� GR÷UXOWXVXQGD�JHUHNWL÷LQGH�HWNLQ�ELU�SODQODPD�DUDFÕ�YH\D�ELU�PDOL\HW�\|QHWLPL�WHNQL÷L�\D�GD�SD]DUODPD� VWUDWHMLOHULQLQ� EHOLUOHQPHVLQGH� NXOODQÕODQ� ELU� \DNODúÕP� RODUDN� HOH�DOÕQGÕ÷Õ�J|U�OPHNWHGLU��
� %LU� YDUOÕ÷ÕQ� \DúDP� VH\UL�� YDUOÕ÷ÕQ� QLKDL� VDWÕúÕ� LoLQ� EX� YDUOÕ÷ÕQ�ROXúXPX� ER\XQFD�� ELU� IÕUVDWÕQ� YH\D� ELU� LKWL\DFÕQ� WDQÕPODQPDVÕ� DUDVÕQGDNL�]DPDQ�DUDOÕ÷Õ�RODUDN�WDQÕPODQPDNWD�ROXS����YDUOÕ÷ÕQ�\DúDP�VH\UL�PDOL\HWL�LVH��EX� \DúDP� VH\UL� ER\XQFD� RUWD\D� oÕNDQ�� SODQODPD�� WDVDUODPD�� HOGH� HWPH� YH�EDNÕP� PDOL\HWOHUL� LOH� YDUOÕ÷Õ� HOGH� HWPHN� \D� GD� NXOODQPDN� LoLQ� YDUOÕNOD�GR÷UXGDQ� LOLúNLOHQGLULOHELOHQ� GL÷HU� PDOL\HWOHUL� LoHUHQ� WRSODP�PDOL\HW� RODUDN�LIDGH�HGLOPHNWHGLU����

��� ù$.5$.������������ =HNL�'2ö$1��0DOL\HW�<|QHWLPLQGH�<HQL�%LU�<DNODúÕP� 0XKDVHEH�%LOLP�'�Q\DVÕ�'HUJLVL��&LOW����6D\Õ����0DUW�������V�������� .$5&,2ö/8��������� %$55(77�3�-���/LIH�&\FOH�&RVWLQJ��%HWWHU�3UDFWLFH�*XLGH��$UDOÕN�������V������� KWWS���ZZZ�JDPF�QVZ�JRY�DY�GRFV�OLIH�F\FOH�FRVWLQJV��
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� 0DPXO�\DúDP�VH\UL�NDYUDPÕ\OD���UHWLOHQ�YH\D�W�NHWLFL\H�VXQXODQ�PDO�YH\D�KL]PHWLQ�NXOODQÕOGÕ÷Õ�\D�GD�ID\GDOÕ�RODELOGL÷L�V�UH\H�GD\DOÕ�PDOL\HWLQLQ�RUWD\D� oÕNDUÕOPDVÕ� DQODWÕOPDNWDGÕU���� <DúDP� VH\UL� NDYUDPÕ�� JHQHO� RODUDN�SD]DUODPD� \|QHWLPLQGH� PDPXO� VWUDWHMLOHULQH� \|QHOLN� ELU� \DNODúÕP� RODUDN�ELOLQPHNWH�ROXS��EX�\DNODúÕPGD�LúOHWPHOHU��PDPXOOHULQ�SD]DUD�VXQXOPDVÕQGDQ�LWLEDUHQ� WXWXQXS�� X]XQ� ELU� V�UH� SL\DVDGD� NDOPDVÕQÕ� YH� NDU� JHWLUPHVLQL�LVWHPHNWHGLUOHU���� 3D]DUODPD� \|QHWLPLQGH�� PDPXO� \DúDP� VH\UL� PDPXO�VWUDWHMLOHULQL�EHOLUOHPH\H�\|QHOLN�RODUDN�NXOODQÕODQ�ELU�\DNODúÕP�ROXS��]DPDQ�ER\XWX�LoHULVLQGH�KHUKDQJL�ELU�PDO�YH\D�KL]PHWH�RODQ�WDOHELQ�\DSÕVÕ�RODUDN�GD�WDQÕPODQPDNWDGÕU���
0DPXO� \DúDP� G|QHPL�� MHQHULN� ELU� PDPXO� NDWHJRULVLQGHNL� W�P�PDUNDODU� LoLQ� X]XQFD� ELU� V�UH� PHYFXW� RODQ� WRSODP� WDOHSWHQ� ROXúPDNWDGÕU��<LQH� EHOOL� ELU�PDPXO� SD]DUÕQGD�� EHOLUOL� ELU�PDPXO� ILNUL� LoLQ�� WRSODP� \DúDP�VH\UL� NDUÕQÕ� YH� WRSODP� \DúDP� VH\UL� VDWÕú� WXWDUÕQÕ� DoÕNODPDNWD� YH� PDPXO�Q�\DúDP�G|QHPLQLQ��ELU� LúOHWPHQLQ�\DúDPÕQGD�GR÷UXGDQ�D÷ÕUOÕ÷Õ�RODQ�ELU�NRQX�ROGX÷XQX�LIDGH�HWPHNWHGLU����
0DPXO�\DúDP�VH\UL�PDOL\HWOHPH�NDYUDPÕ��ROGXNoD�\D\JÕQ�YH�]DPDQ�V�UHFL�LoHULVLQGHNL�\DWÕUÕPODUD�LOLúNLQ��E�WoHOHQHQ�YH�JHUoHNOHúHQ�PDOL\HWOHUOH��PDOL\HW� WDVDUUXIODUÕQÕ� GLNNDWH� DODQ� WHNQLNOHULQ� WDPDPÕQÕ� NDSVD\DQ� ELU�NDYUDPGÕU���

� 0DOL\HWOHULQ� VDSWDQPDVÕ�� YDUOÕN� \|QHWLP� V�UHFLQLQ� WDPDPOD\ÕFÕ� ELU�SDUoDVÕGÕU��<DúDP�VH\UL�PDOL\HWOHPHVL��ELU�YDUOÕNOD�\D�GD�ELU�SDUoDVÕ\OD�LOJLOL��HOGH�HWPH��NXUXOXú�YH� LúOHWPH��EDNÕP��\HQLOHPH�YH�VDWÕú�PDOL\HWOHULQL� LoHUHQ�W�P� PDOL\HWOHULQ� WDPDPÕQÕ� EHOLUOHPH� V�UHFL� ROGX÷XQGDQ�� HNRQRPLN�GH÷HUOHQGLUPH�� ILQDQVDO� GH÷HUOHQGLUPH�� GH÷HU� \|QHWLPL�� ULVN� \|QHWLPL� YH�WDOHS� \|QHWLPL� DUDFÕOÕ÷Õ� LOH� VHoHQHNOHULQ� GH÷HUOHQGLULOPHVLQGH� HQ� |QHPOL�XQVXUGXU���
� 0<60�\|QWHPL��WRSODP�P�ONL\HW�PDOL\HWLQL�VDSWDPD\D�\|QHOLN�ELU�WHNQLN�ROXS��|QFHGHQ�WDKPLQ�HGLOHQ�ELU�]DPDQ�DUDOÕ÷Õ�ER\XQFD��PDPXO�Q�ELU�KDUFDPD�SURILOLQL�VD÷ODPDN�LoLQ�NXOODQÕODELOPHNWHGLU��

0<60�\|QWHPL��JHQHOOLNOH�SODQODPDFÕODUÕQ�JHUHNVLQLP�GX\GX÷X�YH�ELU� PDPXO�Q� \DúDPÕ� ER\XQFD�� ELU� |UJ�W�Q� NDUúÕODúDFD÷Õ� KHU� W�UO�� PDOL\HWL��EXQODUÕQ� oHúLWOHULQL� VLVWHPDWLN� RODUDN� WDQÕPOD\DQ�� EX�PDOL\HWOHULQ� QLWHOL÷L� YH�ER\XWXQX�WDKPLQ�HGHQ��UDSRUOD\DQ��PDOL\HWOHUL�HQ�D]D�LQGLUJH\HQ�YH�NDUOÕOÕ÷Õ�DUWÕUDQ�ELU�\DNODúÕPGÕU��%X�QHGHQOH��0<60��ELU�PDPXO�Q�\DúDPÕ�V�UHVLQFH�PDOL\HWOHULQLQ�WRSODQPDVÕ��WDKPLQ�HGLOPHVL�YH�\|QHWLOPHVLQH�RODQDN�VD÷OD\DQ�ELU�VLVWHPGLU��
<DúDP� VH\UL� IHOVHIHVL�� |QFHGHQ� WDKPLQ� HGLOHELOLU� V�UHoOHU� YH�GH÷HUOHQGLUPH� DúDPDODUÕ� V�UHVLQFH� ]DPDQ� HVDVOÕ� RODUDN� HOH� DOÕQGÕ÷ÕQGDQ�� ELU�

�
��� 0HKPHW�(562<��gPUH�'D\DOÕ�0DOL\HWOHPH� 0g'$9��0XKDVHEH�%LOLP�'�Q\DVÕ�'HUJLVL��&LOW����6D\Õ����+D]LUDQ�������6������� '2ö$1�������� :5,*+7�'DYLG��$ 3UDFWLFDO�)RXQGDWLRQ�LQ�&RVWLQJ� 5RXGOHGJH�������V�������� g��%D\EDUV�7(.��3D]DUODPD�øONHOHUL� *OREDO�<|QHWLPVHO�<DNODúÕP�7�UNL\H�8\JXODPDODUÕ��*HOLúWLULOPLú����%DVNÕ��ø]PLU�������6�����
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PDPXO�\D�GD�KL]PHWOH�LOJLOL�JHOLU�YH�PDOL\HWOHULQ�EHOLUOHQPHVLQL�YH�WDKPLQLQL�NDSVD\DQ�ELU�NDUDU�DOPD�DUDFÕGÕU����
0DPXO� \DúDP� VH\UL� PDOL\HWOHPHVL�� IL]LNVHO� YDUOÕNODUÕQ� HNRQRPLN�|P�UOHUL�ER\XQFD�RUWD\D�oÕNDQ� W�P�PDOL\HWOHUL� WDQÕPOD\ÕS��|OoHUHN�EXJ�QN��GH÷HU� \|QWHPL\OH� HOGH� HWPH� YH� EXQODUD� VDKLS� ROPD� PDOL\HWLQLQ�RSWLPL]DV\RQXQD�oDOÕúÕU����
0DPXO�\DúDP�VH\UL�PDOL\HWOHPH�\|QWHPL��\|QHWLFLOHUH�ELU�PDPXO�Q�W�P� \DúDPÕ� ER\XQFD� PDOL\HWOHUL� \|QHWPH� YH� DQODPD� NRQXVXQGD� ELOJL�VD÷OD\DQ�ELU�VLVWHPGLU����

���� 0$08/���<$ù$0����6(<5ø����0$/ø<(7/(0(�� <g1(7ø0ø1'(�'ø..$7�('ø/(&(.�.218/$5�
0<60� \|QWHPL�� ELU� PDPXO�Q� \DúDP� VH\UL� ER\XQFD� LúOHWPH\H�\�NOHGL÷L� W�P� PDOL\HWOHUL� LoHUPHOLGLU�� 0DPXO� \DúDP� VH\UL� PDOL\HWLQLQ�KHVDSODPDVÕ�� KHU� ELU� \DúDP� VH\UL�PDOL\HW� XQVXUXQXQ� ]DPDQÕQÕ�� WPDPXO�� YH�PLNWDUÕQÕ�WDQÕPOD\DELOHFHN�úHNLOGH�\DSÕOPDOÕGÕU����
1LKDL� W�NHWLFL� 0<60� DQDOL]L�� ³0DPXO�Q� |]HOOLNOHUL�� \DúDP� VH\UL�ER\XQFD� W�NHWLFL\H� QH� NDGDUD� PDO� ROPDOÕGÕU"´� VRUXVXQD� FHYDS� YHUPHN� LoLQ�\DSÕODQ�SD]DU�DQDOL]LQLQ�ELU�SDUoDVÕ�RODUDN�NXOODQÕOÕUNHQ���UHWLFL�PDPXO�\DúDP�VH\UL� PDOL\HW� DQDOL]L�� PDPXO� |]HOOLNOHULQLQ� PDOL\HWH� HWNLOHULQL� EXOPDN� LoLQ�NXOODQÕOÕU����0DPXO�Q�KHUKDQJL�ELU�|]HOOL÷L� LoLQ�NDWODQÕODQ�PDOL\HWLQ��PDPXO�NDUOÕOÕ÷ÕQD�HWNLOHULQL�DUDúWÕUÕU��6|]�NRQXVX�HWNL��PDPXO�Q�|]HOOL÷LQGHQ�GROD\Õ�PDPXO�VDWÕú�IL\DWÕQÕQ�DUWPDVÕ�YH�EXQD�ED÷OÕ�RODUDN�NDUÕQ�\�NVHOPHVL�úHNOLQGH�ROXúDELOHFH÷L� JLEL�� VDWÕú� PLNWDUÕQÕQ� DUWPDVÕ\OD� WRSODP� NDUÕQ� \�NVHOPHVL�úHNOLQGH�GH�RUWD\D�oÕNDELOLU��hUHWLFL�DQDOL]L��|QFHGHQ�QLKDL�W�NHWLFL�DQDOL]LQGH�NXOODQÕODQ� GH÷LúNHQOHU� �]HULQGH� \DSÕOÕU��hUHWLFL� DQDOL]LQLQ� \DSÕODELOPHVL� LoLQ�QLKDL�W�NHWLFL�DQDOL]LQLQ�\DSÕOPÕú�ROPDVÕ�úDUWWÕU��
0DPXO�Q�\DúDP�VH\UL�DúDPDODUÕQD�LOLúNLQ�oRN�D]�ELU�ELOJL\H�VDKLS�ELU�\|QHWLFL�� \DúDP� VH\UL� NDUÕQÕ� HQ� �VW� G�]H\H� oÕNDUPDN� LoLQ�� HQ� L\L� \ROXQ��JHOLUOHUL� HQ��VW�G�]H\H�oÕNDUPDN��PDOL\HWOHUL� LVH� HQ�D]D�G�ú�UPHN�ROGX÷XQX�G�ú�QHELOLU�� $QFDN�� ELU� PDPXO�Q� \DúDP� VH\ULQLQ� KHU� DúDPDVÕQGD�� JHOLUOHUL�D]DPLOHúWLUPHN� YH� PDOL\HWOHUL� DVJDULOHúWLUPHN�� PDPXO�Q� W�P� \DúDPÕ�ER\XQFD��JHUHNOL�ELU�úHNLOGH�NDUODUÕ�HQ��VW�G�]H\H�oÕNDUPD\Õ�VD÷ODPD\DELOLU��gUQH÷LQ�� PDOL\HWOHUL� P�PN�Q� ROGX÷X� NDGDU� HQ� G�ú�N� VHYL\H\H� oHNPHN�DPDFÕ\OD�� JHOLúLP� DúDPDODUÕ� ER\XQFD� ELU� PDPXO�Q� WDVDUÕPÕQÕ� ]DPDQVÕ]� ELU�úHNLOGH� VWDQGDUWODúWÕUDQ� ELU� LúOHWPH�� GLQDPLN� HQG�VWULOHUGH� LKWL\DFÕ� RODQ�HVQHNOL÷LQ�ND\EHGLOPHVLQH�QHGHQ�RODELOLU��*HOLUOHUL�DUWÕUPDN�LoLQ��PDPXOOHULQ�

�
��� -RKQ� 6+(:&+8.�� /LIH� &\FOH� 7KLQNLQJ�$Q� $SSURDFK� 7R� %HWWHU� %XVLQHVV� 'HVLFLRQV�$QG�%HKDYLRUV�7KDW�:LOO�0D[LPL]H�3URILWV� &0$�0DJD]LQH��0D\�����9RO�����LVVXH���V�������� '�� *�� :22':$5'� DQG� ,�� '(0ø5$ö�� /LIH� &\FOH� &RVWLQJ�� &DUHHU� $FFRXQWDQW´��1RYHPEHU�������V���������� KWWS����ZHS�VLQJQHW�FRP�VJ�QDWXUH���DOLHQ�KWP���� $GQDQ�6(9ø0��³6WUDWHMLN�.DU�<|QHWLPLQGH�dD÷GDú�%LU�$UDo��hU�Q�<DúDP�6H\UL�0DOL\HW�6LVWHPL´� 0g'$9�&LOW����6D\Õ�����V������������� .$5/26���������
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oRN�\�NVHN�IL\DWODUOD�VDWÕOPDVÕ�LVH��UDNLSOHULQ�SD]DUD�JLUPHVLQL�NROD\ODúWÕUÕU�YH�EX� GXUXP� LúOHWPHQLQ�� IL\DWODUÕQÕ� DúD÷Õ\D� oHNPHN� ]RUXQGD� NDOPDVÕQD� QHGHQ�ROXU���
0DPXO� \DúDP� VH\UL�PDOL\HW� VLVWHPLQGH� HQ� |QHPOL� QRNWD�� LúOHWPH\L�EDúDUÕ\D� XODúWÕUPDGD� HQ� D]� PDOL\HWOL� \|QWHPLQ� EHOLUOHQPHVLQL� VD÷ODPDN�DPDFÕ\OD�� KHP�JHUoHNOHúHQ�PDOL\HWOHUL� KHP�GH� JHOHFHNWH� RUWD\D� oÕNDELOHFHN�PDOL\HWOHUL�J|]�|Q�QGH�EXOXQGXUPDNWÕU��%X�QHGHQOH��PDPXO�\DúDP�VH\ULQFH�RUWD\D� oÕNDELOHFHN� VR\XW� PDOL\HW� YH� NDU� XQVXUODUÕQÕQ� \DWÕUÕP� NDUDUODUÕQGD�GLNNDWH�DOÕQPDVÕ�JHUHNPHNWHGLU���

���0$08/�<$ù$0�6(<5ø�0$/ø<(7/(0(�<g17(0ø1ø1�� $0$d/$5,�
0<60�\|QWHPLQLQ�WHPHO�DPDFÕ��PDPXO�Q�SODQODQPDVÕ�DúDPDVÕQGD�NDUDU�YHULFLOHULQ�� ELU�PDPXO�Q�\DúDP�V�UHFLQLQ�KHU� DúDPDVÕQGD�NDWODQÕODFDN�RODQ�PDOL\HWOHUL�KHVDSODPD��DQDOL]�HWPH��WDKPLQ�HWPH��UDSRUODPD�YH�\|QHWPH�RODQD÷Õ�VXQPDNWÕU���
0<60�\|QWHPLQLQ���JHQHO�DPDFÕ�YDUGÕU��%XQODU����

x 3ODQODPD�YH�SD]DUGDQ�oHNLOPH�DúDPDODUÕQGD�RUWD\D�oÕNDQ�PDOL\HWOHUL�NDSVD\DQ� IDDOL\HW� NDUÕQÕQ��PDPXO�Q� SD]DUGD� DNWLI� ROGX÷X� DúDPDGD�\D�GD��UHWLP�DúDPDVÕQGD�ND]DQÕOÕS�ND]DQÕOPDGÕ÷ÕQÕ�RUWD\D�NR\PDN��
x 3ODQODPD� DúDPDVÕQGD�� �UHWLPOH� LOJLOL� ROPD\DQ� YH� PDPXOOH� ELUOLNWH�YHULOHQ�� JDUDQWL�� oHYUHVHO� PDOL\HWOHU� JLEL� EDúOÕFD� PDOL\HWOHUL�WDQÕPODPDN� YH� EX� PDOL\HWOHUL� HOLPLQH� HWPHN� YH\D� D]DOWPDN� LoLQ�PDPXO� �]HULQGH� \DSÕOPDVÕ� JHUHNHQ� WDVDUÕP� GH÷LúLNOLNOHULQL� RUWD\D�NR\PDN��
x %LU� PDPXO� WDVDUÕPÕ� G�ú�N� �UHWLP� PDOL\HWOHUL� |QJ|UPHVLQH� NDUúÕQ��oRN� \�NVHN� JDUDQWL� PDOL\HWOHUL� LoHUHELOLU�� 3ODQODPDFÕODUD�� DOWHUQDWLI�PDPXO� WDVDUÕPODUÕQD� LOLúNLQ� WRSODP� \DúDP� VH\UL� PDOL\HWOHULQL�NDUúÕODúWÕUDUDN�� EX� DOWHUQDWLIOHU� DUDVÕQGDQ� HQ� L\L� VHoLPOHUL�\DSDELOPHOHUL�LoLQ�GHVWHN�VD÷ODPDN��
x (WNLQ� ELU� SODQODPD� \DSDELOPHN� YH� IDDOL\HWOHUL� NRQWURO� HGHELOPHN�DPDFÕ\OD��PDOL\HWOHUL�QLWHOLNOHULQL�YH�]DPDQODPDVÕQÕ�WDQÕPODPDN���

�
����0$08/�<$ù$0�6(<5ø�0$/ø<(7/(0(�<g17(0ø1ø1�� <$5$5/$5,�
0DPXO� \DúDP� VH\UL� PDOL\HWOHPH� \|QWHPL�� ELU� PDPXO�Q� \DúDPÕ�ER\XQFD� YH� EX� PDPXOOH� ELUOLNWH� RUWD\D� oÕNDQ� W�P� PDOL\HWOHULQ� |Oo�P�Q��LoHUPHNWHGLU�� 0DPXO�Q� PDOL\HWLQLQ� KHVDSODQPDVÕQGD� \DOQÕ]FD� �UHWLP�PDOL\HWOHUL� GH÷LO�� D\QÕ� ]DPDQGD�� DUDúWÕUPD�� WDVDUÕP�� JHOLúWLUPH�� SD]DUODPD��GD÷ÕWÕP��EDNÕP�RQDUÕP�YH�P�úWHUL�KL]PHWOHUL�LOH�LOJLOL�W�P�PDOL\HWOHUL�GLNNDWH�

�
��� *h1(ù�YH�$.68������
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DOPDNWDGÕU�� %|\OHFH� EX� PDOL\HWOHU�� SODQODPD�� PDOL\HWOHPH� YH� IL\DWODPD�NDUDUODUÕQGD�\DUDUOÕ�ELU�úHNLOGH�NXOODQÕODELOHFHNWLU��
%X�\|QWHPGH�SHN�oRN�PDOL\HWLQ�|QFHGHQ�KHVDSODQDELOPHNWH�ROPDVÕ��\DúDP�VH\UL�PDOL\HWOHPH�\|QWHPLQLQ�|QHPLQL�DoÕNoD�RUWD\D�NR\PDNWDGÕU��%X�QHGHQOH��\DúDP�VH\UL�PDOL\HWOHPH�\|QWHPL��ELU�LúOHWPH\H�WRSODP�\DúDP�VH\UL�PDOL\HWOHUL��]HULQGH�X]XQ�G|QHPOL�ELU�SODQODPD�YH�\�U�WPH�NRQXVXQGD�LPNDQ�VD÷ODPDNWDGÕU�� 8]XQ� G|QHPOL� SODQODPD� DUDFÕOÕ÷Õ\OD� EX� \|QWHP�� LúOHWPHOHUL��PDPXO�Q�\DúDP�VH\ULQLQ� LON�DúDPDODUÕ� VÕUDVÕQGD�KDUFDPDODUÕQÕ�DUWÕUPDN� LoLQ�WHúYLN� HWPHNWHGLU�� %|\OHFH� GDKD� VRQUDNL� DúDPDODUGD� YH\D� G|QHPOHUGH�LúOHWPHOHU�GDKD�D]�PDOL\HWH�NDWODQDELOHFHNOHUGLU���

�
����0$08/� <$ù$0� 6(<5ø� 0$/ø<(7/(5ø� 9(�� 0$/ø<(7/(0(�6h5(&ø�
0DPXO� \DúDP� VH\UL� PDOL\HWOHPH� V�UHFLQH� JHoPHGHQ� |QFH� PDPXO�\DúDP� VH\UL� DúDPDODUÕQÕ� DoÕNODPDNWD� \DUDU� RODFDNWÕU�� 0DPXO� \DúDP� VH\UL�DúDPDODUÕ�� �UHWLFL�� W�NHWLFL� YH� SD]DUODPD� EDNÕú� DoÕODUÕQGDQ� ROPDN� �]HUH� D\UÕ�D\UÕ� HOH� DOÕQPDNWDGÕU�� 3D]DUODPD� EDNÕú� DoÕVÕQD� J|UH� PDPXO� \DúDP� VH\UL��6XQXú�� %�\�PH�� 2OJXQOXN� YH� '�ú�ú� ROPDN� �]HUH� G|UW� DúDPDGDQ�ROXúPDNWDGÕU�� 7�NHWLFL� EDNÕú� DoÕVÕQD� J|UH� LVH�� $OÕP�� øúOHWPH�� 'HVWHN� YH�%DNÕP� YH� 2QDUÕP� ROPDN� �]HUH� \LQH� G|UW� D\UÕ� DúDPDGDQ� ROXúPDNWDGÕU�� %X�oDOÕúPDGD� 0<60� \DNODúÕPÕ�� �UHWLFL� EDNÕú� DoÕVÕ\OD� HOH� DOÕQPÕúWÕU�� hUHWLFL�EDNÕú� DoÕVÕ� DoÕVÕQGDQ� PDPXO�Q� \DúDP� VH\UL�� 0DPXO� )LNUL� 7DVDUÕP� YH�

*HOLúWLUPH� hUHWLP� YH� /RMLVWLN� 'HVWHN� YH� (OGHQ� dÕNDUPD� ROPDN� �]HUH�JHQHOOLNOH� EHú� DúDPDGDQ� ROXúPDNWDGÕU�� 'ROD\ÕVÕ\OD�� PDPXO� \DúDP� VH\UL�PDOL\HWOHUL��EX�EHú�DúDPDGD�RUWD\D�oÕNDQ�W�P�PDOL\HWOHUGHQ�ROXúPDNWDGÕU��
0DPXO�\DúDP�VH\UL�PDOL\HWOHPH�\|QHWLPL��PDPXO�Q�V|]�NRQXVX�EX�\DúDP�G|QHPOHULQGH�RUWD\D�oÕNDQ�W�P�IDDOL\HWOHUH�GD\DOÕ�V�UHoOHUH�YH�EHOLUOL�PDPXO� \D� GD� PDPXO� JUXSODUÕ� LoLQ� WRSODQPÕú� W�P� PDOL\HWOHUH� JHUHNVLQLP�GX\DU�� %LU� PDPXO�Q� PDOL\HWLQLQ� E�\�N� ELU� NÕVPÕQÕQ� WDVDUÕP� DúDPDVÕQGD�EHOLUOHQPHNWH�ROGX÷X�ELU� JHUoHNWLU��<DSÕODQ� DUDúWÕUPDODUD�J|UH�ELU�PDPXO�Q�WRSODP�\DúDP�G|QJ�V��PDOL\HWOHULQLQ�\DNODúÕN������LOH�����¶LQLQ�PDPXO�Q�JHOLúWLUPH�YH�P�KHQGLVOLN�DúDPDVÕQGD�YHULOHQ�NDUDUODUOD�EHOLUOHQGL÷LQGHQ��EX�DúDPDGD�NDoÕQÕODQ� IHGDNDUOÕNODU� LOHULGH��UHWLP�YH��UHWLP�VRQUDVÕ�NDoÕQÕOPDVÕ�RODQDNVÕ]� E�\�N� PDOL\HWOHUH� QHGHQ� RODELOPHNWHGLU���� 'ROD\ÕVÕ\OD�� N|W��WDVDUÕPÕQ� XFX]� ROGX÷X�� DQFDN� N|W�� WDVDUÕPÕQ� D÷ÕU� IDWXUDVÕQÕQ�� PDPXO�Q�LOHUOH\HQ�DúDPDODUÕQGD�RUWD\D�oÕNDFD÷Õ�XQXWXOPDPDOÕGÕU�����
0DPXO�\DúDP�VH\UL�PDOL\HWOHUL�úHNLO��¶GH�J|U�OG�÷��JLELGLU��
�

��� (5*81��������� 6(9ø0������
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%DúODQJÕo� (OGHQ�dÕNDUPD�

<XNDUÕGDNL� úHNLOGH�� ELU� PDPXO�Q� WDVDUÕP� DúDPDVÕQGDQ� EDúOD\DUDN��PDPXO�Q� HOGHQ� oÕNDUPD� DúDPDVÕQD� NDGDU� JHoHQ� V�UHGH� ROXúDQ�PDOL\HWOHULQ�QHGHQ�RODFD÷Õ�QDNLW�DNÕPODUÕ�\HU�DOPDNWDGÕU��0DPXO�Q�EDúODQJÕo�PDOL\HWOHUL�oRN�\�NVHN�QDNLW� DNÕPÕ� JHUHNWLUPHNWH� DQFDN��PDPXO�Q��UHWLPH�EDúODQÕOGÕ÷Õ�\ÕOGDQ�� HOGHQ� oÕNDUPD� DúDPDVÕQD� NDGDU� JHoHQ� V�UHGH� ROXúDFDN� ³LúOHWPH��EDNÕP� YH� JHOLúWLUPH´� PDOL\HWOHUL� LVH� EDúODQJÕo� PDOL\HWOHULQH� J|UH� GDKD� D]�QDNLW�DNÕPÕQD�QHGHQ�ROPDNWDGÕU��
<DúDP�VH\UL�PDOL\HW�DQDOL]LQH�EDúODPDGDQ�|QFH�EX�DúDPDODUÕQ�DoÕN�ELU�úHNLOGH� WDQÕPODQPDVÕ�YH�EX�DúDPDODUGD�RUWD\D�oÕNDQ�PDOL\HWOHULQ� WDKPLQ�HGLOPHVL�JHUHNPHNWHGLU��%|\OHFH��NDUDUODUÕQ�GDKD�GR÷UX�YH�\HULQGH�DOÕQPDVÕ�P�PN�Q� RODELOHFHNWLU�� d�QN��� EX� DúDPDODUGD� RUWD\D� oÕNDQ� PDOL\HWOHU���UHWLFLQLQ�ELU�PDPXOOH�LOJLOL�NDWODQDFD÷Õ�W�P�PDOL\HWOHUGHQ�ROXúPDNWDGÕU��
%LU� SURMH� LOH� LOJLOL� HQ� L\L� PDOL\HW� WDVDUUXIX� IÕUVDWODUÕ�� SURMHQLQ�JHOLúWLUPH� YH� WDVDUÕP� DúDPDODUÕQGD� RUWD\D� oÕNDU�� %X� DúDPDODUGD� PDPXO�Q�WRSODP� \DúDP� G|QHPL� PDOL\HWOHULQGH� WDVDUUXI� VD÷OD\DELOPHN� DPDFÕ\OD�GH÷LúLNOLNOHU� \DSPD� LPNDQÕ� EXOXQPDNWDGÕU�� 3URMHQLQ� VRQUDNL� DúDPDODUÕQGD�SHN�oRN�PDOL\HW�XQVXUX�NLOLWOHQGL÷L�LoLQ��EX�DúDPDODUGD�PDOL\HWOHUL�G�ú�UPHN�ROGXNoD�]RUGXU���
%LU� PDPXOGHQ� \DúDP� G|QHPL� ER\XQFD� VD÷ODQDELOHFHN� PDOL\HW�WDVDUUXIODUÕ� LOH� PDPXO�Q� \DúDP� G|QHPL� ER\XQFD� PDPXOOH� LOJLOL� \DSÕODFDN�GH÷LúLNOLNOHULQ�QHGHQ�RODFD÷Õ�PDOL\HWOHU�úHNLO����]HULQGH�J|VWHULOPLúWLU��
�

1D
NLW

�$N
ÕPÕ

<DúDP�6H\UL�

ùHNLO����0DPXO�<DúDP�6H\UL�0DOL\HWOHUL

7DVDUÕP��6DWÕQ�DOPD��<D�GD�øQúD�HWPH�

øúOHWPH

%DNÕP

*HOLúWLUPH
(OGHQ��dÕNDUPD�

.D\QDN��%$55(77�3�-���/LIH�&\FOH�&RVWLQJ��%HWWHU�3UDFWLFH�*XLGH��$UDOÕN�������
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ùHNLO� �¶GHQ� GH� J|U�OG�÷�� JLEL�� SURMHQLQ� WDVDUÕP� YH� JHOLúWLUPH�DúDPDODUÕQGD� PDPXOGH� \DSÕODFDN� GH÷LúLNOLNOHULQ� PDOL\HWL� oRN� G�ú�N�� EXQD�NDUúÕOÕN� EX� DúDPDODUGD� \DSÕODELOHFHN� SRWDQVL\HO� PDOL\HW� WDVDUUXIODUÕ� oRN�\�NVHNWLU�� $QFDN� EX� LOLúNL� PDPXO�Q� LOHUOH\HQ� DúDPDODUÕQGD� WHUVLQH�G|QPHNWHGLU���
%LU�YDUOÕ÷ÕQ�PDOL\HWL�VÕN�VÕN�RQXQ�GH÷HUL�LOH�NDUÕúWÕUÕOPDNWDGÕU��9DUOÕN�IRQNVL\RQHO� KDOH� JHOGL÷LQGH� YH� EX� IRQNVL\RQODUÕQ� QHGHQ� ROGX÷X� WRSODP�PDOL\HW�� DQFDN� RQX� PH\GDQD� JHWLUHQ� SDUoDODU� LOH� LOLúNLOHQGLULOHELOGL÷LQGH��JHUoHN�GH÷HU�RUWD\D�oÕNPDNWDGÕU���
0DPXO�\DúDP�VH\UL�PDOL\HWOHUL�GDKD�|QFH�DoÕNODQGÕ÷Õ�JLEL��PDPXO�Q�W�P� \DúDP� VH\UL� ER\XQFD� RUWD\D� oÕNDQ� PDOL\HWOHUGHQ� ROXúPDNWDGÕU�� %X�PDOL\HWOHU�JHQHO�RODUDN���JUXSWD�WRSODQPDNWDGÕU��%XQODU�DúD÷ÕGDNL�JLELGLU����

x (OGH�(WPH�0DOL\HWOHUL��
x .XOODQÕP�0DOL\HWOHUL��YH�
x (OGHQ�dÕNDUPD�0DOL\HWOHUL��

(OGH� HWPH�PDOL\HWOHUL� SODQODPD�� WDVDUÕP�� JHOLúWLUPH� YH� EDúODQJÕo�VHUPD\H� PDOL\HWOHUL� LOH� LOJLOL� ROXS�� VHUPD\H� \DWÕUÕP� PDOL\HWOHUL�� Lo� YH� GÕú�WDúÕPD� �FUHWOHUL� YH� QDNOL\H� PDOL\HWOHUL�� \ÕNÕP� YH� \HQLGHQ� \HUOHúPH\L�NDSVD\DQ�DUD]L�PDOL\HWOHUL��LQFHOHPH�PDOL\HWOHUL��GDQÕúPDQOÕN�YH�P�WHDKKLWOLN�PDOL\HWOHUL�� YHUJL� UHVLP� YH� KDUoODU� JLEL� \DVDO�PDOL\HWOHU�� oDOÕúPD��PDO]HPH��SDUoD� PDOL\HWOHUL�� LOHWLúLP� PDOL\HWOHUL�� LúOHP� PDOL\HWOHUL�� GHSRODPD�PDOL\HWOHUL�� EDúODQJÕo� GHPLUEDú� \|QHWLP� PDOL\HWOHUL�� EDúODQJÕo� NDOLWH�
�
��� KWWS���ZZZ�TJP�TOG�JRY�DX�6333')�

'H÷LúLNOLNOHULQ0DOL\HWL�

0DPXO�<DúDP�'|QHPL���=DPDQ�

3RWDQVL\HO�0DOL\HW�7DVDUUXIODUÕ�
0DPXO�)LNUL�

7DVDUÕP��*HOLúWLUPH� hUHWLP� /RMLVWLN�'HVWHN� (OGHQ�dÕNDUPD

ùHNLO���3RWDQVL\HO�7DVDUUXIODU�YH�0DOL\HW�øOLúNLVL�

.D\QDN��ZZZ�JDPF�QVZ�JRY�DX
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GHQHWOHPH� PDOL\HWOHUL� YH� WHVW� HWPH� PDOL\HWOHUL�� \|QHWLP� PDOL\HWOHUL� YH�J�YHQOLN�PDOL\HWOHUL�JLEL�PDOL\HWOHUGHQ�ROXúPDNWDGÕU��
.XOODQÕP� PDOL\HWOHUL� JHQHOOLNOH� IDDOL\HW� PDOL\HWOHUL� RODUDN� LIDGH�HGLOPHNWH� ROXS�� ELU� oRN�PDOL\HW� XQVXUXQX� NDSVDPDNWDGÕU��%XQODU�� DúD÷ÕGDNL�JLEL�DOW�PDOL\HW�JUXSODUÕQGDQ�ROXúPDNWDGÕU��

x øúOHWLP�PDOL\HWOHUL��
x %DNÕP�PDOL\HWOHUL��
x 7HPL]OLN�0DOL\HWOHUL��
x 'H÷LúLP�YH�\HQLOHPH�PDOL\HWOHUL��YH�
x /RMLVWLN�GHVWHN�PDOL\HWOHUL���

(OGHQ�oÕNDUPD�PDOL\HWOHUL� DUWÕN�\D�GD�NXUWDUÕODQ�GH÷HU�PDOL\HWOHUL��YDUOÕN�DUWÕN�GH÷HUOHPH�PDOL\HWOHUL��HOGHQ�oÕNDUPD�\|QWHP�PDOL\HWOHUL��DFHQWH��FUHWOHUL� JLEL��� QDNOL\H� PDOL\HWOHUL�� \ÕNÕP� PDOL\HWOHUL�� oHYUHVHO� \HQLGHQ�G�]HQOHPH��UHVWRUDV\DQ��PDOL\HWOHUL�JLEL�PDOL\HWOHUGHQ�ROXúXU��
<DúDP� VH\UL� PDOL\HWOHPH� V�UHFL�� WHPHO� RODUDN�� ELU� YDUOÕNOD� LOJLOL�\DúDP� VH\UL� ER\XQFD� RUWD\D� oÕNDQ� PDOL\HWOHUL� GH÷HUOHQGLUPH� YH� VDKLSOLN�PDOL\HWL��]HULQH�ELU�HWNL\H�VDKLS�DOWHUQDWLIOHULQ�|Oo�P�Q��LoHULU��

�
���<$ù$0�6(<5ø�0$/ø<(7�$1$/ø=ø�
<DúDP� VH\UL� PDOL\HW� DQDOL]L� oRN� GLVLSOLQOL� ELU� oDOÕúPD� ROGX÷XQGDQ�DQDOL]L� \DSDFDN� NLúLQLQ� \DúDP� VH\UL� \DNODúÕPÕQÕQ� IHOVHIHVLQL� �WLSLN� PDOL\HW�XQVXUODUÕ��PDOL\HW�ELOJL�ND\QDNODUÕ�YH�ILQDQVDO�LONHOHUL�NDSVD\DFDN�úHNLOGH��YH�PDOL\HW� WDKPLQOHUL� LOH� LOJLOL� EHOLUVL]OLNOHUL� GH÷HUOHQGLUPH� \|QWHPOHULQL� L\L�ELOL\RU�ROPDVÕ�JHUHNPHNWHGLU��
$QDOL]LQ� ER\XWODUÕQD� ED÷OÕ� RODUDN�� PDPXO�Q� \DúDP� VH\UL�DúDPDODUÕQGD� RUWD\D� oÕNDELOHFHN� PDOL\HWOHUH� LOLúNLQ� LOJLOL� NLúLOHUGHQ� JHUHNOL�PDOL\HW� ELOJLOHULQLQ� HOGH� HGLOPHVL� |QHP� WDúÕPDNWDGÕU�� %X� NLúLOHU�� PDPXO�Q��YDUOÕ÷ÕQ���UHWLPLQL�\D�GD�VXQXPXQX�\DSDQ�NLúLOHU�RODELOHFH÷L�JLEL�NXOODQÕFÕODU�GD�RODELOLU��
<DúDP� VH\UL� PDOL\HW� DQDOL]L� úHNLO� �¶WH� GH� J|U�OG�÷�� JLEL� DOWÕ�DúDPDGDQ� ROXúDQ� ELU� V�UHoWLU�� øON� G|UW� DúDPD� ³\DúDP� PDOL\HW� DQDOL]LQLQ�SODQODQPDVÕQÕ´� VRQ� LNL� DúDPD� LVH� ³\DúDP� VH\UL� PDOL\HWL� DQDOL]LQLQ�X\JXODQPDVÕQÕ´�NDSVDPDNWDGÕU����
7�P�DúDPDODUGD�\DSÕODQ�oDOÕúPDODU��H÷HU�LKWL\Do�GX\XOXUVD��\HQLGHQ�J|]GHQ� JHoLULOHELOLU� YH� WHNUDUODQDELOLU�� $QFDN�� EX� DúDPDODUÕQ�WHNUDUODQDELOPHVL�LoLQ�KHU�DúDPDGD�\DSÕODQ�YDUVD\ÕPODUÕQ�ND\ÕW�DOWÕQD�DOÕQDUDN�EHOJHOHQPHVL�JHUHNLU���

�

��� ZZZ�JDPF�QVZ�JRY�DX�
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ùHNLO����0<60�$QDOL]L��

$1$/ø=ø1�3/$1/$10$6,���������������������������������������$1$/ø=ø1�8<*8/$10$6,����������� � ��������������
.D\QDN��%$55(77������

$1$/ø=��3/$1,1,1�
+$=,5/$10$6,�

$1$/ø=��02'(/ø1ø1�
*(/øù7ø5ø/0(6ø

$1$/ø=��02'(/ø1ø1�
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�����<DúDP�6H\UL�0DOL\HW�$QDOL]LQLQ�$úDPDODUÕ�
�������$QDOL]�3ODQÕQÕQ�+D]ÕUODQPDVÕ�
<DúDP� VH\UL� PDOL\HWL� DQDOL]� V�UHFLQLQ� ��� DúDPDVÕ�� DQDOL]LQ�DPDoODUÕQÕQ� D\UÕQWÕOÕ� RODUDN� DoÕNODQGÕ÷Õ� YH� DQDOL]LQ� ER\XWODUÕQÕQ� EHOLUOHQGL÷L�ELU�SODQÕQ�KD]ÕUODQPDVÕ\OD�EDúODU��
%X�SODQGD��

x <|QHWLP� NDUDUODUÕQD� \DUGÕPFÕ� RODFDN� úHNLOGH�� DQDOL]� DPDoODUÕQÕQ�WDQÕPÕ���
x $OWHUQDWLI� KDUHNHW� WDU]ODUÕQÕQ� �WDVDUÕP� \DNODúÕPODUÕ�� YDUOÕN� DOÕPÕ��EDNÕP� YH� GHVWHN� SROLWLNDODUÕ� YH\D� DOWHUQDWLI� WHNQRORMLOHU� JLEL���YDUOÕ÷ÕQ�\DúDP�VH\UL�PDOL\HWL��]HULQH�RODQ�HWNLOHUL���
x 9DUOÕ÷ÕQ� \DúDP� VH\UL� PDOL\HWLQGH� PDOL\HW� WDúÕ\ÕFÕVÕ� RODUDN� J|UHY�\DSDQ�PDOL\HW�XQVXUODUÕQÕQ�WDQÕPODUÕ���
x $QDOL]�DOWÕQGDNL�YDUOÕN� LoLQ��\DSÕODFDN�DQDOL]LQ�ER\XWODUÕ��|QJ|U�OHQ�\DúDP� DúDPDODUÕ�� oHYUH� NXOODQÕPÕ�� LúOHWLP�� NRUXPD� YH� EDNÕP�VHQDU\RODUÕQÕQ�WDQÕPODUÕ��
x (÷HU�YDUVD��NDEXO�HGLOHELOLU�RSVL\RQODUÕQ�DODQÕQÕ�GDUDOWDFDN�GXUXPODU��YDUVD\ÕPODU�� VÕQÕUODPDODU� YH� NÕVÕWODPDODUÕQ� �YDUOÕ÷ÕQ� PLQLPXP�SHUIRUPDQVÕ�� JHUHNOHULQ� HULúLOHELOLUOL÷L� YH\D� PDNVLPXP� VHUPD\H�PDOL\HWOHULQLQ�VÕQÕUODUÕ�JLEL��WDQÕPODUÕ��
x 'H÷HUOHQGLULOHFHN�DOWHUQDWLI�KDUHNHW�WDU]ODUÕQÕQ�QHOHU�ROGX÷X���
x .DUDU�YHUPH�V�UHoOHULQL�GHVWHNOHPHN�LoLQ�JHUHNOL�RODQ�YH�HULúLOHELOLU�\DúDP� VH\UL� DQDOL]� VRQXoODUÕQÕ� VD÷OD\DFDN�RODQ� ND\QDNODUÕQ� WDKPLQ�HGLOPHVL�YH�ELU�UDSRUODPD�WDNYLPLQLQ�JHOLúWLULOPHVL���

JLEL� NRQXODU� \HU� DOPDOÕGÕU�� %X� SODQ�� LúLQ� JHUL� NDODQ� NÕVPÕQD� RGDNODQPDN�DPDFÕ\OD�� DQDOL]� V�UHFLQLQ� EDúÕQGD� \DSÕOPDOÕ� YH� DQDOL]� VRQXoODUÕQÕQ� LOJLOL�NXOODQÕFÕODUÕQ� LKWL\DoODUÕQÕ� GR÷UX� ELU� úHNLOGH� NDUúÕOD\ÕS� NDUúÕODPDGÕ÷Õ� YH� QHW�RODUDN�LIDGH�HGLS�HWPHGL÷L�DoÕVÕQGDQ��J|]GHQ�JHoLULOPHOLGLU��
�������$QDOL]�0RGHOLQLQ�6HoLPL�
<DúDP�VH\UL�PDOL\HW�DQDOL]�V�UHFLQLQ����DúDPDVÕ��DQDOL]LQ�DPDoODUÕQÕ�WDWPLQ�HGHFHN�ELU�DQDOL]�PRGHOLQLQ�VHoLOPHVL�\D�GD�JHOLúWLULOPHVL\OH�LOJLOLGLU��$QDOL]� PRGHOL�� \DúDP� VH\UL� G|QHPOHULQLQ� YH� PDOL\HW� IDNW|UOHULQLQ� W�P�Q��NDSVD\DFDN�úHNLOGH�ROPDOÕ�YH�YDUOÕ÷D�ED÷OÕ�PDOL\HWOHUL�WDKPLQ�HWPH\H�LPNDQ�VD÷ODPDOÕGÕU��
%X�PRGHO��

x 0DPXO�Q� \DúDP� VH\ULQLQ� W�P� DúDPDODUÕQGD� \HU� DODQ� E�W�Q� LOJLOL�PDOL\HW� NDWHJRULOHULQL� EHOLUOH\HQ� ELU� ³PDOL\HW� D\UÕúWÕUPD´� \DSÕVÕQÕQ�\DUDWÕOPDVÕQD� LPNDQ� VD÷ODPDOÕGÕU�� 0DOL\HW� NDWHJRULOHUL�� KHU� ELU�ELUH\VHO�PDOL\HW� XQVXUX� WDKPLQ� HGLOHELOLU� VHYL\H\H� JHOLQFH\H� NDGDU�D\UÕúWÕUÕOPD\D� GHYDP� HGLOPHOLGLU�� %X� QRNWDGD�� H÷HU� P�PN�QVH��PHYFXW� ELU� PDOL\HW� D\UÕúÕP� \DSÕVÕ�� \DúDP� VH\UL� DQDOL]LQLQ� PDOL\HW�
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D\UÕúÕP� \DSÕVÕQÕQ� JHOLúWLULOPHVL� LoLQ� ID\GDOÕ� ELU� EDúODQJÕo� QRNWDVÕ�ROXúWXUDELOLU��
x $OWHUQDWLIOHU� DUDVÕQGD� GH÷LúLNOLN� J|VWHUPH\HQ� YH\D� YDUOÕ÷ÕQ� W�P�\DúDP� VH\UL� PDOL\HW� DQDOL]LQGH� |QHPOL� ELU� HWNLVL� ROPD\DQ� PDOL\HW�XQVXUODUÕQÕQ� WDQÕPÕQD� \HU� YHUPHOLGLU� �%X� XQVXUODU� JHUHNWL÷LQGH�DQDOL]LQ�LOHULNL�DúDPDODUÕQGD�HOHPLQH�HGLOHELOLU���
x 0RGHOLQ� NDSVDGÕ÷Õ� KHU� ELU� PDOL\HW� XQVXUX� LOH� LOJLOL� PDOL\HWOHULQ�WDKPLQL�LoLQ�ELU�³PDOL\HW�WDKPLQ�\|QWHPLQLQ´�VHoLPLQL�VD÷ODPDOÕGÕU��
x 7DKPLQOHULQ� JHOLúWLULOPHVL� LoLQ� JHUHNOL� YHULOHULQ� EHOLUOHQPHVLQH� YH�YHUL�ND\QDNODUÕQÕQ�WDQÕPODUÕQD�\HU�YHUPHOLGLU��
x +HU� ELU� PDOL\HW� XQVXUXQXQ� WDKPLQL\OH� LOJLOL� RODELOHFHN�EHOLUVL]OLNOHULQ�ELU�VXQXPXQX�VD÷ODPDOÕGÕU��

'DKD� VRQUD�� ELUH\VHO� PDOL\HW� XQVXUODUÕQÕQ�� DQDOL]� DPDoODUÕQÕ�NDUúÕODPDN� DPDFÕ\OD� JHUHNOL� DQDOL]� oÕNWÕODUÕQÕ� VD÷OD\DFDN� úHNLOGH�� PRGHOH�\HUOHúWLULOHUHN� ELUOHúWLULOPHVL� JHUHNLU�� 6RQ� RODUDN� GD�� PRGHO�� DQDOL]LQ�DPDoODUÕQÕ�EHOLUWPHGH�X\JXQ�ROXS�ROPDGÕ÷Õ�DoÕVÕQGDQ��J|]GHQ�JHoLULOPHOLGLU��
*HOLúWLULOHQ�PRGHO��DQDOL]�V�UHFLQLQ�LOHULNL�DúDPDODUÕQGD�UHKEHUOLN�YH�GHVWHN�VD÷ODPDN�DPDFÕ\OD��NDSVDGÕ÷Õ�W�P�YDUVD\ÕPODUÕ\OD�ELUOLNWH�ND\ÕW�DOWÕQD�DOÕQPDOÕGÕU��
<DúDPD�VH\UL�PDOL\HW�DQDOL]�PRGHOLQGH�NXOODQÕODQ�DQDKWDU�YHULOHU���DQD�JUXSWD�WRSODQÕU��%XQODU������%DúODQJÕo�VHUPD\H�PDOL\HWL������<DúDP�VH\UL�IDDOL\HW� PDOL\HWOHUL�� ���� %DNÕP� PDOL\HWOHUL�� ���� <DúDP� VH\ULQGH� YDUOÕNWD�PH\GDQD� JHOHQ� ND\ÕSODUÕQ� PDOL\HWL� YH� ���� (OGHQ� oÕNDUPD� PDOL\HWOHUL�úHNOLQGHGLU�� <DúDP� VH\UL� DQDOL]L� LoLQ� EDúYXUXODELOHFHN� ELU� oRN� PRGHO�EXOXQPDNWDGÕU��%X�PRGHOOHU�EDVLW�ELU�GHQNOHP�\D�GD�NDUPDúÕN�ELU�ELOJLVD\DU�VLP�ODV\RQX� úHNOLQGH� RODELOLU�� $QFDN�� |QHPOL� RODQ� W�P� DOWHUQDWLIOHULQ�GH÷HUOHQGLULOPHVL� LoLQ� WXWDUOÕ� ELU� PRGHOLQ� NXOODQÕOPDVÕGÕU�� +HU� ELU� DOWHUQDWLI�LoLQ� IDUNOÕ� PRGHOOHULQ� NXOODQÕOPDVÕ� DOWHUQDWLIOHU� DUDVÕQGD� DQODPOÕ�NDUúÕODúWÕUPDODUÕQ� \DSÕODELOPHVLQL� ]RUODúWÕUÕU���� $QFDN� ED]Õ� GXUXPODUGD��|]HOOLNOL�ELU�X\JXODPD�LoLQ��|]HO�ELU�PRGHO�JHOLúWLULOPHVL�GDKD�X\JXQ�RODELOLU��
%DúYXUXODQ�PRGHO��

D�� $QDOL]� DOWÕQGDNL� YDUOÕNOD� LOJLOL�� WDVDUODQDQ� oHYUH� NXOODQÕPÕ�� IDDOL\HW�YH� EDNÕP�RQDUÕP� VHQDU\RODUÕ� LOH� NÕVÕWODPDODUÕ� LoHUHQ� |]HOOLNOHUL�VXQPDOÕGÕU��
E�� 9DUOÕ÷ÕQ� \DúDP� VH\UL� PDOL\HWOHUL\OH� LOJLOL� IDNW|UOHUL� D\GÕQODWDFDN�GHUHFHGH�NDSVDPOÕ�ROPDOÕGÕU��
F�� =DPDQOÕ� NDUDUODUÕQ� YHULOHELOPHVL�� JHOHFHNWH� JHUHNOL�J�QFHOOHúWLUPHOHULQ� YH� GH÷LúLNOLNOHULQ� \DSÕOPDVÕQD� L]LQ� YHUHFHN�úHNLOGH�EDVLW�YH�DQODúÕOÕU�ROPDOÕGÕU��
G�� 'L÷HU� IDNW|UOHUGHQ� ED÷ÕPVÕ]� RODUDN� VSHVLILN� \DúDP� VH\UL� PDOL\HW�XQVXUODUÕQÕQ�GH÷HUOHQGLULOPHVLQL�VD÷ODPDOÕGÕU��

�
��� %$55(77�����
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�������$QDOL]�0RGHOLQLQ�8\JXODQPDVÕ�
<DúDP� VH\UL�PDOL\HW� DQDOL]� V�UHFLQLQ� ��� DúDPDVÕ�� DQDOL]�PRGHOLQLQ�X\JXODQPDVÕ� LOH� LOJLOLGLU�� 0RGHOLQ� X\JXODQPDVÕ�� PRGHO� LoLQ� JHUHNOL� RODQ�WDOHSOHULQ� EHOLUOHQLS� WDQÕPODQPDVÕ\OD� LOJLOL� ROXS�� DúD÷ÕGDNL� DúDPDODUGDQ�ROXúXU��

x 0RGHOGH� \HU� DODQ� W�P� PDOL\HW� XQVXUODUÕ� LOH� LOJLOL� YHULOHULQ�WRSODQPDVÕ�� PDOL\HW� WDKPLQOHULQLQ� JHOLúWLULOPHVL� YH� PDOL\HWOHULQ�]DPDQODPDVÕQÕQ� EHOLUOHQPHVL�� %X� QRNWDGD�� H÷HU� P�PN�Q� ROXUVD��WDULKL�YHULOHU�LOH�PRGHOLQLQ�JHoHUOLOL÷L�WHVW�HGLOPHOLGLU��
x $QDOL]� SODQÕQGD� WDQÕPODQPÕú� RODQ� KHU� ELU� GHVWHN� VHQDU\RVX� YH�IDDOL\HW�ELOHúHQOHUL�LOH�LOJLOL�PRGHO�VRQXoODUÕQÕQ�HOGH�HGLOPHVL��
x $QDOL]�DOWÕQGDNL�YDUOÕ÷ÕQ�\DúDP�VH\UL�PDOL\HWL��]HULQGH�HQ�oRN�HWNL\H�VDKLS�RODQ�PDOL\HW�XQVXUODUÕQÕ�EHOLUOHPHN�LoLQ��DQDOL]�PRGHOL�JLUGL�YH�oÕNWÕODUÕQÕQ�J|]GHQ�JHoLULOHUHN�PDOL\HW�V�U�F�OHULQLQ�WDQÕPODQPDVÕ��
x h]HULQGH� oDOÕúÕOPDNWD� RODQ� DOWHUQDWLIOHU� DUDVÕQGDNL� IDUNOÕOÕNODUÕQ��SHUIRUPDQVWD�� HULúLOHELOLUOLNWH� YH\D� GL÷HU� LOJLOL� NÕVÕWODPDODUGD���PRGHOGH�GLUHNW�RODUDN�\DQVÕWÕODELOHQH�NDGDU�|Oo�OPHVL��
x 0RGHO� oÕNWÕODUÕ�� DQDOL]� VRQXoODUÕ� NXOODQÕFÕODUÕQ� DPDoODUÕQD� X\JXQ�DQODPOÕ�JUXSODU��|UQH÷LQ��VDELW�YH\D�GH÷LúNHQ�PDOL\HWOHU��WHNUDUODQDQ�YH�WHNUDUODQPD\DQ�PDOL\HWOHU��VDWÕQ�DOPD�\D�GD�RUWDNOÕN�PDOL\HWOHUL��GLUHNW� YH� HQGLUHNW� PDOL\HWOHU� JLEL�� ROXúWXUDFDN� úHNLOGH�VÕQÕIODQGÕUÕOPDOÕ�YH�|]HWOHQPHOLGLU��
x 9DUVD\ÕPODUGDNL� GH÷LúLNOLNOHULQ� YH� PDOL\HW� XQVXUODUÕQGDNL�EHOLUVL]OLNOHULQ�PRGHO� VRQXoODUÕ� �]HULQH� RODQ� HWNLOHULQL� |OoPHN� LoLQ�GX\DUOÕOÕN� DQDOL]OHULQLQ� \DSÕOPDVÕ�� %X� QRNWDGD� PDOL\HW� V�U�F�OHUL��YDUOÕ÷ÕQ�NXOODQÕPÕ� LOH� LOJLOL�YDUVD\ÕPODU�YH� IDUNOÕ� LVNRQWR�RUDQODUÕQD�GLNNDW�HGLOPHOLGLU��
x $QDOL]� SODQÕQGD� WDQÕPODQPÕú� RODQ� DPDoODUD� NDUúÕ� PRGHO� VRQXoODUÕ�J|]GHQ�JHoLULOPHOLGLU��%X�QRNWDGD�� W�P�KHGHIOHUH�XODúÕOGÕ÷ÕQGDQ�YH�\HWHUOL� ELOJLOHULQ� HOGH� HGLOGL÷LQGHQ� HPLQ� ROXQPDOÕGÕU�� $PDoODUD�XODúÕODPDPDVÕ� GXUXPXQGD� PRGHOGH� GH÷LúLNOLNOHU� \DSÕOPDVÕ�JHUHNHELOLU��
x (÷HU� JHUHNLUVH�� \DúDP� VH\UL� PDOL\HW� DQDOL]LQLQ� ELU� EDúND� DQDOLVW�WDUDIÕQGDQ� GR÷UXODQDELOLUOL÷LQL� YH� NROD\FD� WHNUDUODQDELOLUOL÷LQL�VD÷ODPDN�DoÕVÕQGDQ��PRGHO� W�P�YDUVD\ÕPODUÕ\OD�ELUOLNWH�ND\ÕW�DOWÕQD�DOÕQPDOÕGÕU��

�������6RQXoODUÕQ�*|]GHQ�*HoLULOPHVL�9H�5DSRUODQPDVÕ�
%X� DúDPDGD� DQDOL]� VRQXoODUÕ�� NXOODQÕFÕODUÕQ�� VRQXoODUOD� LOJLOL�EHOLUVL]OLNOHUL�� NÕVÕWODPDODUÕQ� DQDOL]� ER\XQFD� DQDOL]� �]HULQH� RODQ� HWNLOHULQL�QHW�RODUDN�DQODPDODUÕQD�LPNDQ�YHUHFHN�úHNLOGH��UDSRUODQPDOÕGÕU��
6|]�NRQXVX�UDSRU���

x $QDOL]�\|QHWLFLVLQLQ��DQDOL]LQ�DPDoODUÕ��VRQXoODUÕ�YH�|QHULOHULQLQ�\HU�DOGÕ÷Õ�NÕVD�ELU�DoÕNODPDVÕQÕ��
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x $QDOL]� DPDoODUÕQÕQ�� YDUOÕ÷ÕQ� WDQÕPÕQÕQ� YH� NXOODQGÕ÷Õ� oHYUHQLQ��IDDOL\HW� YH� GHVWHN� VHQDU\RODUÕQÕQ�� NÕVÕWODPDODU� YH� DOWHUQDWLI� KDUHNHW�WDU]ODUÕQÕQ�\HU�DOGÕ÷Õ�ELU�GXUXPX��
x 0DOL\HWOHULQ�HQWHJUDV\RQX�YH�PDOL\HW� WDKPLQ�\|QWHPOHUL� LOH�ELUOLNWH�\DúDP� VH\UL�PDOL\HW� D\UÕúÕP� \DSÕVÕ� YH� LOJLOL� YDUVD\ÕPODUÕ� NDSVD\DQ�PRGHOLQ�ELU�|]HWLQL��
x .XOODQÕFÕODUÕQ� NDUDU� YHUPHOHULQH�� DQODPDODUÕQD� YH� VRQXoODUÕ�NXOODQPDODUÕQD� UHKEHUOLN� HGHFHN� EHOLUVL]OLNOHULQ� YH� GL÷HU� VRUXQODUÕQ�WDQÕPÕQÕ� NDSVD\DQ� PRGHO� VRQXoODUÕ� LOH� LOJLOL� P�]DNHUHOHULQ� ELU�VXQXPXQX��
x øOHULGH� \DSÕODFDN� oDOÕúPDODU� YH\D� DQDOL]LQ� UHYL]H� HGLOPHVLQGH�JHUHNVLQLP�GX\XODFDN�JHUHNOLOLNOHULQ� ELU� WDQÕPÕ� LOH� ELUOLNWH� DQDOL]LQ�DPDoODUÕ\OD�ED÷ODQWÕOÕ�VRQXoODUÕQ�YH�|QHULOHULQ�OLVWHVLQLQ�VXQXPXQX��

NDSVDPDOÕGÕU�� 5DSRUGD� VXQXODQ� |QHULOHULQ�� NDUDU� YH� VRQXoODUÕQ� G�]HOWLOPHVL�YH\D� ELUOHúWLULOPHVL� LoLQ� DQDOL]� V�UHFLQLQ� úHNLOVHO� RODUDN� \HQLGHQ� J|]GHQ�JHoLULOPHVL� JHUHNHELOLU�� %|\OH� ELU� LKWL\Do� ROPDVÕ� GXUXPXQGD�� REMHNWLIOL÷L�VD÷OD\DELOPHN� DoÕVÕQGDQ�� EX� oDOÕúPDODU�� PHYFXW� DQDOLVW� GÕúÕQGD�� EDúND� ELUL�WDUDIÕQGDQ�\DSÕOPDOÕGÕU��
�������$QDOL]LQ�+D]ÕUODQPDVÕ�
<DúDP� VH\UL� PDOL\HW� DQDOL]L�� \DúDP� PDOL\HW� DQDOL]L� SODQODPD�DúDPDVÕ� ER\XQFD� YH� QRPLQDO� PDOL\HW� ELOJLOHULQL� NXOODQDQ� ELU� \DúDP� VH\UL�DQDOL]� PRGHOLQLQ� JHOLúWLULOPHVL� YH� X\JXODQPDVÕQD� GD\DQÕU�� <DúDP� VH\UL�PDOL\HW� DQDOL]LQLQ� KD]ÕUODQPDVÕ�� ELU� ³JHUoHN� ]DPDQOÕ´� PDOL\HW� NRQWURO�PHNDQL]PDVÕ�RODUDN��\DúDP�VH\UL�PDOL\HW�DQDOL]�PRGHOLQLQ�JHOLúWLULOPHVLQL�YH�\HQLGHQ�J|]GHQ�JHoLULOPHVLQL��D\QÕ�]DPDQGD�LVNRQWR�HGLOPLú�PDOL\HW�WHPHOLQL�QRPLQDO�PDOL\HWOHUH�G|Q�úW�UPH\L�JHUHNWLULU��%X�GXUXPGD�� WDKPLQL� VHUPD\H�PDOL\HWOHULQLQ�\HULQL�|GHQPLú�JHUoHN�IL\DWODU�DODFDNWÕU��$\QÕ�úHNLOGH��JHUHNOL�GHWD\ODUÕ� YH� L]OHQHFHN�YDUOÕN� ELOHúHQOHULQL� \DQVÕWPDN� LoLQ�PDOL\HW� D\UÕúWÕUPD�\DSÕVÕ�YH�PDOL\HW�XQVXUODUÕQGD�GH÷LúLNOLNOHU�\DSÕOPDVÕ�JHUHNHELOLU��
)DDOL\HW�PDOL\HWOHUL�YH�EXQODUÕQ�RUWD\D�oÕNPD�VÕNOÕNODUÕ�LoLQ�NRQXODQ�KHGHIOHU�� \DúDP� PDOL\HWL� SODQODPD� DúDPDVÕQÕQ� EDúODQJÕFÕQGD� \DSÕODQ�WDKPLQOHUH� GD\DQPDNWDGÕU�� $QFDN�� YDUOÕ÷ÕQ� J�QFHO� IDDOL\HW� PDOL\HWOHULQGHQ�YH\D� EHQFKPDUNLQJ� \ROX\OD� GL÷HU� EHQ]HU� YDUOÕNODUGDQ� GR÷UX� ELOJLOHU�DOÕQGÕNoD��EX�KHGHIOHU�GH÷LúHELOHFHNWLU��
�������$QDOL]LQ�8\JXODQPDVÕ�9H�ø]OHQPHVL�
<DúDP�PDOL\HWL� DQDOL]LQLQ� ��� YH� VRQ� DúDPDVÕ� RODQ�� \DúDP�PDOL\HWL�DQDOL]LQLQ� WDPDPODQDUDN� X\JXODQPDVÕ� YH� L]OHQPHVL� DúDPDVÕ�� PDOL\HW�WDVDUUXIX�\DSÕODELOHFHN�DODQODUÕQ�WDQÕPODQPDVÕ�YH�JHOHFHNWHNL�\DúDP�PDOL\HWL�SODQODPD� IDDOL\HWOHUL� DoÕVÕQGDQ� ELU� JHUL� EHVOHPH� VD÷ODPDVÕ� LoLQ�� IDDOL\HW� YH�EDNÕP�V�UHVLQFH�YDUOÕ÷ÕQ�J�QFHO��JHUoHN��SHUIRUPDQVÕQÕQ�V�UHNOL� L]OHQPHVLQL�JHUHNWLULU�� gUQH÷LQ�� EDúODQJÕoWD� YHULOHFHN� ELU� NDUDUOD�� SDKDOÕ� ELU� ELQD�ELOHúHQLQLQ�� ID\GDOÕ� |PU�� W�NHQPHGHQ� |QFH�� GDKD� HWNLQ� ELU� YDUOÕNOD�GH÷LúWLULOPHVL�LúOHWPH�LoLQ�GDKD�X\JXQ�RODELOLU��
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�����<DúDP�6H\UL�0DOL\HWOHULQLQ�$\UÕúWÕUÕOPDVÕ�
7RSODP�\DúDP�VH\UL�PDOL\HWOHULQLQ�WDKPLQL��YDUOÕ÷ÕQ�\DúDPÕ�ER\XQFD�RUWD\D�oÕNDQ�YDUOÕ÷D�ED÷OÕ�PDOL\HW�XQVXUODUÕQÕQ�D\UÕúWÕUÕOPDVÕQÕ�JHUHNWLULU��6|]�NRQXVX�D\UÕúWÕUPD�VHYL\HVL��DQDOL]LQ�DPDFÕ�YH�ER\XWXQD�ED÷OÕ�ROXS��DúD÷ÕGDNL�KXVXVODUÕQ�WDQÕPODQPDVÕQÕ�JHUHNWLULU��

D�� 0DOL\HW��UHWHQ�|QHPOL�IDDOL\HW�ELOHúHQOHULQLQ�QHOHU�ROGX÷X��
E�� )DDOL\HWOHULQ�\DúDP�VH\ULQGH�WHNUDUODQPD�VÕNOÕ÷Õ���
F�� øúoLOLN��PDO]HPH��HQHUML��JHQHO��UHWLP��WDúÕPD�YH�EHQ]HUL�JLEL�PDOL\HW�NDWHJRULOHULQLQ�LOJLOL�ROGXNODUÕ�ND\QDNODU��

<DúDP� VH\UL� LOH� LOJLOL� RUWDN� PDOL\HW� XQVXUODUÕ� \DúDP� VH\ULQLQ�LOHUOH\HQ�DúDPDODUÕQGD�KHP� WHNUDUODQDQ�YH� WHNUDUODQPD\DQ��KHP�GH� VDELW�YH�GH÷LúNHQ�RODUDN�D\UÕ�D\UÕ�WDKPLQ�HGLOPHOLGLU��
0DOL\HW�ELOJLOHUL��NRQWURO�YH�NDUDU�YHUPH\L�NROD\ODúWÕUPDN�YH�\DúDP�VH\UL� PDOL\HWOHPH� V�UHFLQL� GHVWHNOHPHN� LoLQ�� \DúDP� VH\UL� PDOL\HWOHULQLQ�D\UÕúWÕUÕOPD�\DSÕVÕQD�X\JXQ�RODUDN�WRSODQPDOÕ�YH�UDSRUODQPDOÕGÕU��
�����0DOL\HWOHULQ�7DKPLQL�
<DúDP� VH\UL� PDOL\HWOHULQLQ� KHVDSODQDELOPHVL� DPDFÕ\OD� YDUOÕ÷ÕQ�PDOL\HW� XQVXUODUÕQÕ� WDKPLQ� HWPHNWH� NXOODQÕODFDN� RODQ� \|QWHP� \D� GD�\|QWHPOHUGHQ�PDNVLPXP� ID\GDQÕQ� VD÷ODQDELOPHVL� LoLQ� DúD÷ÕGDNL� KXVXVODUÕQ�ELOLQPHVL�JHUHNPHNWHGLU��

��� 9DUOÕ÷ÕQ�NXOODQÕP�úHNLOOHUL��IRQNVL\RQODUÕ�YH�EHNOHQHQ�\DúDP�VH\UL��
��� 9DUOÕ÷ÕQ�oDOÕúPD�WHNQRORMLVLQLQ�\HWHUL�NDGDU�ELOLQPHVL��

9DUOÕNOD� LOJLOL� D\UÕQWÕOÕ� PDOL\HW� ELOJLOHUL� \DúDP� VH\ULQLQ� LON�DúDPDODUÕQGD� |]HOOLNOH� GH� WDVDUÕP� DúDPDVÕQGD� VÕQÕUOÕ� NDODFDNWÕU�� %X� QHGHQOH�V|]� NRQXVX� PDOL\HW� ELOJLOHUL� YDUOÕNOD� D\QÕ� |]HOOLNOHUH� VDKLS� RODQ� GL÷HU�YDUOÕNODUGDQ� HOGH� HGLOHELOHFHNWLU�� <HQL� WHNQRORMLOHULQ� RUWD\D� oÕNPDVÕ�GXUXPXQGD�� HOGHNL� ELOJLOHU�� \HQL� WHNQRORMLQLQ� JHUHNWLUGL÷L� �UHWLP� ELULPOHUL��LúoLOLN� VDDWOHUL� JLEL� PDOL\HW� SDUDPHWUHOHUL� WHPHOLQGH� J|]GHQ� JHoLULOHFHNWLU��$QFDN�� GDKD� D\UÕQWÕOÕ� ELOJLOHU� YDUOÕ÷ÕQ� \DúDP� VH\UL� ER\XQFD� HOGH�HGLOHELOHFHNWLU��
%DúDUÕOÕ� ELU� \DúDP� VH\UL� PDOL\HW� DQDOL]LQLQ� DQDKWDU� XQVXUODUÕQGDQ�ELULVL� GH� DOWHUQDWLI� KDUHNHW� WDU]ODUÕQÕQ� PDPXO�Q� \DúDP� VH\UL� PDOL\HWOHUL��]HULQH� RODQ� HWNLOHULQLQ� |Oo�OPHVLQGH� PDOL\HW� WDúÕ\ÕFÕVÕ� RODUDN� J|UHY� \DSDQ�IDNW|UOHUOH� LOJLOL� JHUHNOL� ELOJLOHUH� HULúLOHELOLUOLN� GHUHFHVLGLU�� %X� W�U� YHULOHU��YDUOÕNODUÕQ�WDVDUÕPFÕVÕ���UHWLFLVL�\D�GD�YDUOÕNODUÕQ�VXQXPXQX�\DSDQ�NLúLOHUGHQ�HOGH� HGLOHELOLU�� gUQH÷LQ�� ELU� YDUOÕNOD� LOJLOL�� YDUOÕ÷Õ� DU]� HGHQOHUGHQ� YDUOÕ÷ÕQ�EDúODQJÕo� VHUPD\H� PDOL\HWL�� NXOODQÕP� V�UHVL�� \ÕOOÕN� HQHUML� W�NHWLPL�� \ÕOOÕN�EDNÕP� RQDUÕP� JLGHUOHUL�� \ÕOOÕN� IDDOL\HW� ELOJLOHUL�� YDUOÕ÷ÕQ� ID\GDOÕ� |PU��V�UHVLQFH� JHUHNVLQLP� GX\XODELOHFHN� \HQLOHPH�� SDUoD� GH÷LúLPL� YE� JLEL�SHUIRUPDQV� DUWÕUÕFÕ� KDUFDPDODUÕQ� VÕNOÕ÷Õ� YH� EXQODUÕQ� PDOL\HWOHUL� LOH� YDUOÕ÷ÕQ�YH\D�ELOHúHQOHULQLQ�HOGHQ�oÕNDUPD�PDOL\HWL�JLEL�ELOJLOHU�HOGH�HGLOLU��
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*HOHFHN� \DúDP� VH\UL� DQDOL]OHULQLQ� NUHGLELOLWHVL�� |QFHNL� SURMHOHUOH�LOJLOL� WDULKL� YHULOHULQ� VLVWHPDWLN� RODUDN� WRSODQPDVÕ\OD�� DUWÕUÕODELOLU�� 7DKPLQ�HGLOHQ� \DúDP� VH\UL� PDOL\HWOHUL� LOH� ILLOHQ� RUWD\D� oÕNDQ� \DúDP� VH\UL�PDOL\HWOHULQLQ�NDUúÕODúWÕUÕOPDVÕ��
x <60�PRGHOLQLQ�J�YHQLUOLOL÷LQLQ�WH\LW�HGLOPHVLQH��
x *HOHFHN�\DúDP�VH\UL�PDOL\HW�DQDOL]OHULQLQ�JHOLúWLULOPHVL�LoLQ�JHUHNOL�ELOJLOHULQ�VD÷ODQPDVÕQD��YH�
x 'H÷LúLN�YDUVD\ÕPODUOD�LOJLOL�ULVNOHULQ�GH÷HUOHQGLULOHELOPHVLQH���

RODQDN� VD÷ODU�� $\UÕFD� EX� GXUXP�� \HQL� ELU� \|QHWLFL\H�� EDúNDODUÕ� WDUDIÕQGDQ�DOÕQDQ� NDUDUODUÕQ� QHGHQOHULQL� DQODPDGD� \DUGÕPFÕ� RODFDN� ELU� PDQWÕ÷ÕQ�JHOLúLPLQL�GH�VD÷OD\DFDNWÕU��
�

�����<$ù$0������6(<5ø������0$/ø<(7/(5ø1ø1�� +(6$3/$10$6,1'$�.8//$1,/$1�.$95$0/$5�
0DPXO� \DúDP� VH\UL� PDOL\HWOHULQLQ� KHVDSODQPDVÕQGD�� |QHPOL� RODQ�ED]Õ� NDYUDPODU� YH� EX� NDYUDPODUD� LOLúNLQ� DoÕNODPDODUD� NÕVDFD� \HU� YHUPHN�\HULQGH�RODFDNWÕU��
������9DUOÕ÷ÕQ�gPU��
9DUOÕN�|PU�Q�Q��PDPXO�\DúDP�VH\UL�PDOL\HWOHPHVL�DQDOL]LQGH�oRN�E�\�N�|QHPL�YDUGÕU��9DUOÕ÷ÕQ�|PU��EHú�IDUNOÕ�úHNLOGH�HOH�DOÕQDELOLU����

x )RQNVL\RQHO� gP�U�� 9DUOÕ÷D�� LúOHWPH� IDDOL\HWOHULQGH� JHUHNVLQLP�GX\XODQ�]DPDQ�V�UHFLQL�LIDGH�HGHU��
x )L]LNVHO� gP�U�� 9DUOÕ÷ÕQ� IL]LNL� RODUDN� W�NHQPHVLQLQ� EHNOHQGL÷L��IL]LNVHO�RODUDN�\HQLOHQPHVLQLQ�YH\D�FLGGL�ELU� L\LOHúWLUPH� LKWL\DFÕQÕQ�RUWD\D�oÕNWÕ÷Õ�|PU��DQODWÕU��
x 7HNQRORMLN� gP�U�� øOHUL� WHNQRORML\H� VDKLS� ELU� DOWHUQDWLILQ� RUWD\D�oÕNPDVÕ\OD�\HQLOHQPH\L�JHUHNOL�NÕODQ� WHNQRORMLN�HVNLPH�SHUL\RGXQX�LIDGH�HGHU��
x (NRQRPLN� gP�U�� 9DUOÕ÷ÕQ�� GDKD� G�ú�N� PDOL\HWOL� ELU� DOWHUQDWLIOH�GH÷LúWLULOPHVLQLQ� �\HQLOHQPHVL�� JHUHNWL÷L� HNRQRPLN� HVNLPH�V�UHFLGLU��
x 6RV\DO� YH� <DVDO� gP�U�� 9DUOÕ÷ÕQ�� ELUH\LQ� LVWH÷L� YH\D� \DVDO�JHUHNoHOHUOH� \HQLOHQPHVLQLQ� JHUHNHFH÷L� ]DPDQD� NDGDU� RODQ� |PU��LIDGH�HGHU��

������øVNRQWR�2UDQÕ�
0DPXO�� \DúDP� VH\UL� PDOL\HWOHULQLQ� KHVDSODQPDVÕQGD�� PDOL\HWOHUL�EXJ�QN��GH÷HUH� LQGLUPHN� LoLQ�X\JXQ�ELU� LVNRQWR�RUDQÕ�EXOXQPDOÕGÕU��8\JXQ�LVNRQWR� RUDQÕQÕQ� VHoLPL� ROGXNoD� |QHPOL� ROXS�� EXOXQDFDN� RUDQ�� SD]DUÕQ�ND]DQPD�J�F�Q��YH�HQIODV\RQXQ�HWNLVLQL�\DQVÕWPDOÕGÕU��8\JXQ�LVNRQWR�RUDQÕ�

�
��� *h1(ù�YH�$.68�����
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LúOHWPHGHQ�LúOHWPH\H�oRN�EHOLUJLQ�úHNLOGH�IDUNOÕOÕN�J|VWHUPHNWH�YH�EX�RUDQÕQ�QH�ROPDVÕ�JHUHNWL÷L�NRQXVX�GD�EHOLUVL]OL÷LQL�NRUXPDNWDGÕU����
øVNRQWR� RUDQÕQ� VHoLPL�� DQDOL]L� NXOODQDQ� NDUDU� YHULFLOHU� DoÕVÕQGDQ�WDUWÕúPD\D�\RO�DoDELOLU��%X�QHGHQOH�VHoLOHFHN�GH÷HU��LúOHWPHQLQ�SROLWLNDVÕQD�YH�YDUOÕ÷ÕQ�GR÷DVÕQD�X\JXQ�ROPDOÕGÕU��

������1HW�%XJ�QN��'H÷HU�
1HW� EXJ�QN�� GH÷HU� \D� GD� ELU� GL÷HU� DQODPÕ\OD�� LVNRQWR� HGLOPLú�JHOHFHN�PDOL\HWOHU�� ELU� RUJDQL]DV\RQXQ� JHOHFHNWH� \D� GD� úLPGLNL� ELU�PDOL\HW�ROXúXPXQXQ� VHoLPLQH� VDKLS� ROGX÷XQGD�� JHQHOOLNOH� PHYFXW� IRQODU� LoLQ�DOWHUQDWLI�\DUDUODU�YH�JHUHNOL�IRQODUÕQ�DUWÕú�PDOL\HWOHUL�RODUDN�G�ú�Q�O�U���
1HW�EXJ�QN��GH÷HU��VHUPD\H�E�WoHOHPHVL� LoLQ� LVNRQWR�HGLOPLú�QDNLW�DNÕúÕ�\DNODúÕPÕ�ROXS��EXJ�QN��GH÷HU�PHWRGX\OD�� W�P�QDNLW�DNÕúODUÕ�EXJ�QN��GH÷HUH� LVNRQWR� HGLOLU�� %LU� \DWÕUÕP� WHNOLILQLQ� QHW� EXJ�QN�� GH÷HUL� DúD÷ÕGDNL�IRUP�OOH�KHVDSODQDELOLU���

1HW�%XJ�QN��'H÷HU � �¦ �
Q

W W
W
N

$
� �

W ��������������Q��������YDUOÕ÷ÕQ�HNRQRPLN�|PU��WRSODPÕ�
N ��øVNRQWR�RUDQÕ�
$ �� <DWÕUÕPÕQ� VD÷OD\DFD÷Õ� QHW� QDNLW� JLULúOHUL� LOH� QHW� QDNLW� oÕNÕúODUÕ�DUDVÕQGDNL�IDUN�
(Q�JHQHO� DQODPÕ\OD�QHW� EXJ�QN��GH÷HU�� EHOLUOL� ELU� G|QHP�ER\XQFD��ELU� IDDOL\HW� LoLQ� JHOHFHNWHNL� WDKPLQL� PDOL\HWOHULQ� EXJ�QN�� GH÷HUL� LOH�JHOHFHNWHNL�WDKPLQL�JHOLULQ�EXJ�QN��GH÷HUL�DUDVÕQGDNL�IDUNWÕU����
1HW� EXJ�QN�� GH÷HU� \|QWHPLQGH� QDNLW� DNÕúODUÕQÕQ� ]DPDQODPDVÕ�|QHPOLGLU�� $úD÷ÕGDNL� |UQHNWH�� D\QÕ� JHWLUL\H� VDKLS� DQFDN� QDNLW� DNÕPODUÕQÕQ�]DPDQODPDVÕ�IDUNOÕ�RODQ�LNL�SURMHQLQ�NDUúÕODúWÕUÕOPDVÕ�\DSÕOPÕúWÕU��
gUQHN�����
$ YH�%�SURMHOHULQLQ�KHU�LNLVL�GH�������������7/�VHUPD\H�PDOL\HWLQH�YH�������������7/�QHW�QDNLW� DNÕPÕQD� VDKLSWLU��$QFDN�KHU� LNL� SURMHQLQ�QDNLW�DNÕPODUÕQÕQ�]DPDQODPDVÕ�IDUNOÕGÕU��3URMHOHULQ�\DUDUOÕ�|PU����\ÕO�ROXS�JHOHFHN�QDNLW� DNÕPODUÕQÕQ� EXJ�QN�� GH÷HUOHULQL� KHVDSODPDGD� �� ��¶OXN� ELU� LVNRQWR�RUDQÕ�VHoLOPLúWLU��
�

��� *h1(ù�YH�$.68��������� KWWS���ZZZ�JDPF�QVZ�JRY�DY�GRFV�OLIHBF\FOHBFRVWLQJV���� 9�� +251(� DQG� &�� -$0(6�� )LQDQFLDO� 0DQDJHPHQW� DQG� 3ROLF\�� 3UHQWLFH� +DOO�� 8QLWHG�6WDWHV�RI�$PHULFD��������6��������� KWWS���ZZZ�JDPF�QVZ�JRY�DY�GRFV�OLIHBF\FOHBFRVWLQJV�
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7DEOR����$�YH�%�3URMHOHULQLQ�1HW�%XJ�QN��'H÷HUOHUL�
3URMH�$� 3URMH�%�

<ÕOODU 1DNLW�$NÕPÕ�
øVNRQWR�)DNW|U���������

1HW�%XJ�QN�'H÷HU�
1DNLW�$NÕPÕ

øVNRQWR�)DNW|U���������
1HW�%XJ�QN��'H÷HU�

� ����� ������ ������� ����� ������ �������
� ��� ������ ��������� ����� ������ ��������
� ��� ������ ��������� ���� ������ ��������
� ���� ������ �������� ����� ������ ��������
� ���� ������ �������� ���� ������ ��������

7RSODP� � ����� 7RSODP� ������
7DEOR��¶GHQ�GH�DQODúÕODFD÷Õ�JLEL��D\QÕ�EDúODQJÕo�VHUPD\H�PDOL\HWLQH�YH�D\QÕ�JHWLUL\H� VDKLS� LNL�SURMHGHQ��QDNLW� DNÕPODUÕQÕQ�]DPDQODPDVÕQÕQ� IDUNOÕ�ROPDVÕ�QHGHQL\OH��%�SURMHVLQLQ�QHW�EXJ�QN��GH÷HUL�GDKD�ID]OD�oÕNPÕúWÕU��
������$WÕN��+XUGD��'H÷HU��
%LU� YDUOÕ÷ÕQ� oDOÕúPD� G|QHPL� �|PU��� VRQXQGD� KXUGD\D� D\UÕOPDVÕ�QHGHQL\OH� ROXúDQ� PDOL\HWWLU�� +XUGD� GH÷HU�� YDUOÕ÷ÕQ� \ÕNÕOPDVÕ�� RUWDGDQ�NDOGÕUÕOPDVÕ� YH� oHYUHQLQ� UHVWRUDV\RQX� JLEL� IDDOL\HWOHULQ� QHGHQ� RODFD÷Õ�PDOL\HWOHU�RODELOHFH÷L�JLEL�� YDUOÕ÷ÕQ� VDWÕOPDVÕ�\ROX\OD� HOGH� HGLOHFHN�ELU�JHOLU�GH�RODELOLU��
������%LOJL�YH�*HUL�%HVOHPH�
0DPXO� \DúDP� VH\UL� PDOL\HWOHPHVLQLQ� WHNQLN� RODUDN� ID\GDVÕ�LúOHWPHQLQ� HOLQGH� EXOXQGXUGX÷X� ELOJL� J�F�QH� ED÷OÕGÕU�� 6|]� NRQXVX� ELOJL��LúOHWPH� �PXKDVHEH�� DoÕVÕQGDQ� JHUoHNWHQ� JHUHNVLQLP� GX\XODQ� YH� NXOODQÕODQ�ELOJLGLU�� %LOJLOHULQ� HOGH� HGLOPHVL�� DQDOL]L� YH� JHUL� EHVOHPH� DPDFÕ\OD�NXOODQÕOPDVÕ� oRN� GLVLSOLQOL� ELU� NRQXGXU�� $QFDN�PXKDVHEH� DoÕVÕQGDQ� JHUHNOL�RODQ�� ELOJLQLQ� SDUDVDO� RODUDN� LIDGH� HGLOPHVL�HGLOHELOPHVLGLU�� 0DPXO� \DúDP�VH\UL�PDOL\HWOHPHVL�LoLQ�|QJ|U�OHQ�ELOJL��YDUOÕ÷ÕQ�HGLQLP��VDWÕQ�DOPD��WDVDUÕP�YH� LúOHWLOPHVLQLQ� VHUPD\H� PDOL\HWLQH� LOLúNLQ� ILQDQVDO� ]DPDQ� YH� NDOLWH�YHULOHULQL�LoHUPHOLGLU����
9HUL� YH� ELOJL�� YDUOÕ÷ÕQ� IDDOL\HW� SHUIRUPDQVÕQÕQ� L]OHQPHVLQH� RODQDN�VD÷OD\DFDN� YH� JHOHFHNOH� LOJLOL� NDUDUODUD� ÕúÕN� WXWDFDN� úHNLOGH� YDUOÕ÷ÕQ� \DúDP�VH\ULQFH�ELULNWLULOPHOLGLU��
0DPXO�\DúDP�VH\UL�PDOL\HWOHPHVL�\|QWHPLQLQ�EDúDUÕVÕQGD�HQ�|QHPOL�IDNW|U�HOH�JHoLULOHQ�YHUL�YH�ELOJL�JHUL�EHVOHPH�VLVWHPLGLU��
������%HOLUVL]OLN�YH�'X\DUOÕOÕN�$QDOL]L�
0DPXO� \DúDP� VH\UL� PDOL\HWOHPHVL�� E�\�N� |Oo�GH�� YHULOHULQ�WRSODQPDVÕ� DúDPDVÕQGDNL� YDUVD\ÕP� YH� WDKPLQOHUH� GD\DQPDNWDGÕU�� %X�YDUVD\ÕP�YH�WDKPLQOHUOH�LOJLOL�ELU�oRN�EHOLUVL]OLN�XQVXUX�EXOXQPDNWDGÕU��

�
��� *h1(ù�YH�$.68�����



27/8�±�.$5$&$��

���

�����

%HOLUVL]OL÷LQ�EHú�WHPHO�ND\QD÷Õ�DúD÷ÕGDNL�JLEL�DoÕNODQDELOLU�����
x 6LVWHP�� DOW� VLVWHPOHULQLQ�� JHUoHNOHúPLú� YH� EHNOHQHQ� SHUIRUPDQVÕ�DUDVÕQGDNL� IDUNOÕOÕNODUÕQ�� JHOHFHNWHNL� IDDOL\HWOHUH� YH� EDNÕP� RQDUÕP�PDOL\HWOHULQH�HWNLOHUL��
x .XOODQÕFÕ� DNWLYLWHOHULQGHNL� N�o�N� GH÷LúLPOHUGHQ� ND\QDNODQDQ�IDDOL\HWOH�LOJLOL�YDUVD\ÕPODUGDNL�GH÷LúLNOLNOHU��
x *HOHFHNWH� GDKD� G�ú�N� PDOL\HW� DOWHUQDWLIOHULQLQ� RUWD\D� oÕNPDVÕ� YH�|QJ|U�OHQ� VLVWHPOHULQ� HNRQRPLN� |PU�Q�� NÕVDOWDQ� WHNQRORMLN�LOHUOHPHOHU��
x (QHUML�YH�LúJ�F��JLEL�|QHPOL�ELU�ND\QD÷ÕQ��GL÷HU�ND\QDNODUOD�LOLúNLOL�RODUDN�� IL\DW� VHYL\HVLQGHNL� GH÷LúLNOLNOHULQ� JHOHFHNWHNL� GH÷LúWLUPH�PDOL\HWOHULQH�HWNLOHUL��
x 7DKPLQ� HGLOHQ� ]DPDQGDQ�� YDUOÕ÷ÕQ� HOGH� HGLOPHVLQH� NDGDU� JHoHQ�V�UHGHNL� W�P� LOLúNLOHULQ�� VSHVLILN� ND\QDNODU�� IL\DW� RUDQODUÕ� YH�HQIODV\RQ�RUDQÕQÕQ�WDKPLQLQGH�\DSÕODQ�KDWDODU��

<60� DQDOL]LQGH�� KDQJL� EHOLUVL]OLNOHULQ� RUWD\D� oÕNWÕ÷ÕQD� LOLúNLQ� ED]Õ�DQDKWDU�SDUDPHWUHOHU�EXOXQDELOLU��%X�GXUXPGD��DQDOL]�VRQXoODUÕQÕQ�EX�EHOLUVL]�SDUDPHWUHOHUGHNL� GH÷LúLNOLNOHUH� QH� NDGDU� GX\DUOÕ� ROGX÷X� DUDúWÕUÕOPDOÕGÕU��'X\DUOÕOÕN� DQDOL]LQLQ� |]QHOHULQLQ� �NRQXVX�� QHOHU� RODELOHFH÷L� DúD÷ÕGD�EHOLUWLOPLúWLU����
��� %DNÕP�RQDUÕP�IDNW|U�Q�Q�VÕNOÕ÷Õ��
��� 9DUOÕ÷ÕQ�ID\GDODQPD�YH�IDDOL\HW�]DPDQÕQGDNL�GH÷LúLP��
��� '�]HOWLFL� EDNÕP� RQDUÕP� VDDWOHULQLQ�� IDDOL\HW� �LúOHWPH�� VDDWLQH�RUDQÕQGDNL�GH÷LúLP��
��� 0DPXO�WDOHS�RUDQÕ�YH�PDPXO�GD÷ÕWÕP�V�UHVL��
��� øVNRQWR�RUDQÕ��

�
����<$ù$0�6(<5ø�0$/ø<(7/(5ø1ø1�+(6$3/$10$6,1$�� ø/øù.ø1�g51(./(5�
$úD÷ÕGD�� PDPXO� \DúDP� VH\UL� PDOL\HWOHULQLQ� KHVDSODQPDVÕ� LOH� LOJLOL�LNL� |UQHN� YHULOPLúWLU��%LULQFL� |UQHN�� ELU� VDWÕQ� DOPD� NDUDUÕ� YHULOLUNHQ��PDPXO�\DúDP� VH\UL� PDOL\HWOHULQLQ� NDUDU� VHoHQHNOHUL� �]HULQH� RODQ� HWNLOHULQLQ�EHOLUOHQPHVL��LNLQFL�|UQHN�LVH��ELU�LúOHWPHGH��UHWLOHQ�PDPXOOHULQ�\DúDP�VH\UL�PDOL\HWOHULQLQ�QDVÕO�KHVDSODQDFD÷Õ�LOH�LOJLOLGLU��
gUQHN����øNL�)DUNOÕ�0DUND�<D]ÕFÕ�$OÕPÕ�
øúOHWPH�� E�UR� IDDOL\HWOHULQGH� NXOODQPDN� �]HUH� ELU� DGHW� OD]HU� \D]ÕFÕ�VDWÕQ� DOPD\D� NDUDU� YHUPLú� ROXS�� LNL� IDUNOÕ� PDUND� �]HULQGH� VHoLP� \DSPD\D�

�
��� 0�� &�� 0$&('2� DQG� 3�� 9�� '2%52:� DQG� -�� -�5285.(�� 9DOXH� 0DQDJHPHQW� IRU�&RQVWXFWLRQ� &KLFKHVWHU�������V������������ %��6��%/$1&+$5'��'HVLJQ�DQG�0DQDJH�WR�/LIH�&\FOH�&RVW� 0�$�3UHVV��3RUWODQG��2UHJRQ������
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NDUDU�YHULOHFHNWLU��<D]ÕFÕODUÕQ�ID\GDOÕ�|PU����\ÕO�ROXS��\DúDP�VH\UL�PDOL\HWOHUL�DúD÷ÕGDNL�JLELGLU��
7DEOR����$�0DUND�<D]ÕFÕQÕQ�<DúDP�6H\UL�0DOL\HWOHUL��0LO\RQ�7/��

$ 0DUNDVÕ�<ÕOODU (OGH�(WPH�0DOL\HWL� .XOODQÕP�0DOL\HWL� %DNÕP�0DOL\HWL� $UWÕN�'H÷HU� 7RSODP�0DOL\HW�
� ������ �� �� �� ������
� �� ������ ���� �� ������
� �� ������ ���� �� ������
� �� ������ ���� ������ ������

7RSODP��� �������
7DEOR����%�0DUND�<D]ÕFÕQÕQ�<DúDP�6H\UL�0DOL\HWOHUL��0LO\RQ�7/��

% 0DUNDVÕ�<ÕOODU (OGH�(WPH�0DOL\HWL� .XOODQÕP�0DOL\HWL� %DNÕP�0DOL\HWL� $UWÕN�'H÷HU� 7RSODP�0DOL\HW�
� ����� �� �� �� ������
� �� ������ ���� �� ������
� �� ������ ���� �� ������
� �� ������ ���� ������ ������

7RSODP������ �������
7DEOR��¶GH���������LVNRQWR�RUDQÕ�NXOODQÕODUDN��\D]ÕFÕODUÕQ�7DEOR���YH��¶GH�EHOLUWLOHQ�QDNLW�DNÕPODUÕQÕQ�QHW�EXJ�QN��GH÷HUOHUL�KHVDSODQPÕúWÕU��
7DEOR����1DNLW�$NÕPODUÕQÕQ�1HW�%XJ�QN��'H÷HUL��0LO\RQ�7/��

$ 0DUNDVÕ� % 0DUNDVÕ�
<ÕOODU 1DNLW�$NÕPÕ� øVNRQWR�)DNW|U��

1HW�%XJ�QN��'H÷HU�
1DNLW�$NÕPÕ� øVNRQWR)DNW|U�

1HW�%XJ�QN��'H÷HU�
� ������ ������� ������ ������ ������� �����
� ������ ������� ������ ������ ������� ������
� ������ ������� ������ ������ ������� ������
� ������ ������� ������ ������ ������� ������

7RSODP� ������ 7RSODP� ������
%X�ELOJLOHUH�J|UH�QHW�EXJ�QN��GH÷HUL�GDKD�D]�RODQ�$�0DUNDOÕ�\D]ÕFÕ�WHUFLK�HGLOHFHNWLU���
gUQHN�����0LNUR�'DOJD�)ÕUÕQ�hUHWLPL�
$%&� øúOHWPHVL� ��� 2FDN� ����� WDULKLQGH� PLNUR� GDOJD� IÕUÕQ� �UHWLPL�\DSPD\D�NDUDU�YHUPLúWLU��0DPXO�Q�\DUDUOÕ�|PU����\ÕO�ROXS���PDPXO�Q�\DúDP�VH\UL�PDOL\HWOHUL�DúD÷ÕGDNL�JLELGLU��
�
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7DEOR����0LNUR�'DOJD�)ÕUÕQÕQ�<DúDP�6H\UL�0DOL\HWOHUL�
0DOL\HWOHU� 7XWDUÕ� 6�UHVL�
(OGH�(WPH�0DOL\HWOHUL�øON�0DGGH�0DO]HPH�1DNOL\H�� �������������� øON�<ÕO�
øúOHWPH�0DOL\HWOHUL� �������������� +HU�<ÕO�(úLW�
%DNÕP�0DOL\HWOHUL� ��������������� +HU�<ÕO�(úLW�
7HPL]OLN�0DOL\HWOHUL� ��������������� +HU�<ÕO�(úLW�
'H÷LúWLUPH�YH�<HQLOHPH�0DOL\HWOHUL� ��������������� +HU�<ÕO�(úLW�
/RMLVWLN�'HVWHN�0DOL\HWOHUL� ���������������� <ÕOOÕN�

øON�PDGGH�YH�PDO]HPH�PDOL\HWL���������������7/�ROXS�� LON�PDGGH�YH� PDO]HPHQLQ� LúOHWPH\H� WDúÕQPDVÕ� LoLQ� \DSÕODQ� QDNOL\H� JLGHUL� KHU� PDPXO�LoLQ������������7/¶GLU��
0DPXO�Q� KXUGD� GH÷HUL� EXOXQPDPDNWDGÕU�� øúOHWPHQLQ�� PDPXO�Q�\DúDP� VH\UL�PDOL\HWOHULQLQ� QHW� EXJ�QN�� GH÷HUOHULQL� KHVDSODPDN� LoLQ� X\JXQ�J|UG�÷�� LVNRQWR�RUDQÕ��HQIODV\RQ�� IDL]�RUDQODUÕ�� IÕUVDW�PDOL\HWOHUL�YE�HWNLOHUH�J|UH�EHOLUOHQPLú�ROXS�����¶GLU��
7DEOR����1HW�%XJ�QN��0DOL\HWOHU��0LO\RQ�7/��

0DOL\HWOHULQ�1HW�%XJ�QN��'H÷HUOHUL�<ÕOODU øVNRQWR�)DNW|U��������� (OGH�(WPH� øúOHWPH� %DNÕP� 7HPL]OLN� 'H÷LúWLUPH�<HQLOHPH� /RMLVWLN�'HVWHN�
7RSODP�0DOL\HW�

� �� ����� ���� ��� ���� ���� ���� ������
� ������ ��� ���� ��� ��� ���� ���� �����
� ������ ��� ���� ��� ��� ���� ���� �����
� ������ ��� ���� ���� ���� ���� ����� �����
7RSODP� ����� ���� ��� ���� ���� ���� ������

%X�KHVDSODPDODUGDQ� VRQUD��PLNUR�GDOJD� IÕUÕQÕQ� WRSODP�\DúDP� VH\UL�PDOL\HWLQLQ���������������7/�ROGX÷X�J|U�OPHNWHGLU��
�

����6218d�
*�Q�P�]GH�DUWDQ� UHNDEHW�NRúXOODUÕ�YH�ELOLúLP� VHNW|U�QGH�PH\GDQD�JHOHQ� KÕ]OÕ� GH÷LúLP�� LúOHWPHOHUL�� PDPXOOHUL� P�úWHULOHULQH� ]DPDQÕQGD� YH� HQ�G�ú�N� PDOL\HWOH� DQFDN� \�NVHN� NDOLWHGH� VXQPD� ]RUXQOXOX÷XQX� EHUDEHULQGH�JHWLUPLúWLU��%X� QHGHQOH�� LúOHWPHOHU��PDPXOOHUGHQ� VD÷ODQDFDN� HQ� \�NVHN� NDUÕ�YH� P�úWHUL� PHPQXQL\HWLQL� GDKD� PDPXOOHULQL� SL\DVD\D� VXQPDGDQ� |QFH�G�ú�QPHN�]RUXQGDGÕUODU���
0DPXO� <DúDP� 6H\UL� 0DOL\HWOHPH� <|QWHPL�� PDPXOOHULQ� YH\D�KL]PHWOHULQ� WDVDUODQPDVÕQGDQ�� SL\DVD\D� VXQXOPDVÕQD� NDGDU� JHoHQ� W�P�G|QHPOHUGHNL�PDOL\HWOHUL�NDSVD\DQ�YH�DQDOL]�HGHQ�ELU�VLVWHP�ROGX÷XQGDQ��ELU�
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PDPXO�Q� W�P�\DúDP�V�UHVLQFH��PDOL\HWOHUL�\|QHWPH�NRQXVXQGD�\|QHWLFLOHUH�ELOJL�VD÷ODPD\D�\|QHOLNWLU���
0DPXO� \DúDP� G|QHPL� ER\XQFD� ROXúDFDN� PDOL\HWOHULQ� WDP� RODUDN�KHVDSODQDELOPHVL� LoLQ�� LúOHWPHOHULQ�� SD]DUODPD�� ILQDQV�� P�KHQGLVOLN�� �UHWLP�YH� PXKDVHEH� E|O�POHULQLQ� NRRUGLQHOL� RODUDN� LúELUOL÷L� YH� X\XP� LoHULVLQGH�oDOÕúPDVÕ�JHUHNPHNWHGLU��%|O�POHU�DUDVÕ�NDUúÕOÕNOÕ�ELOJL�DOÕú�YHULúL�VRQXFXQGD��ELUELUOHULQH�VXQGXNODUÕ�ELOJLOHULQ�J�YHQLUOLN�GHUHFHVL�|QHP�ND]DQPDNWDGÕU��
6RQXo� RODUDN�� �UHWLFLOHULQ� ELU� PDPXOH� LOLúNLQ� WHGDULN� YH� �UHWPH�NDUDUÕQÕ� YHULUNHQ� \DúDP� VH\UL� PDOL\HWOHULQL� GLNNDWH� DOPDODUÕ� LúOHWPHQLQ�HWNLQOL÷L�DoÕVÕQGDQ�|QHP�WDúÕPDNWDGÕU��

� .$<1$.d$�
��� %DUUHWW�3�-���/LIH�&\FOH�&RQFHSWV��%HWWHU�3UDFWLFH�*XLGH� $UDOÕN�������
��� %ODQFKDUG�%�6���'HVLJQ�$QG�0DQDJH�7R�/LIH�&\FOH�&RVW� 0�$�3UHVV��3RUWODQG��2UHJRQ�������
��� %XUVDO�1DVXKL��(UFDQ�<�FHO��0DOL\HW�0XKDVHEHVL� $QDGROX�hQLYHUVLWHVL�<D\ÕQODUÕ��(VNLúHKLU�������
��� 'R÷DQ� =HNL�� 0DOL\HW� <|QHWLPLQGH� <HQL� %LU� <DNODúÕP� 0XKDVHEH�%LOLP�'�Q\DVÕ�'HUJLVL��&LOW����6D\Õ����0DUW�������
��� (UJXQ� hON��� 0DPXO� 7DVDUÕP� $úDPDVÕQGD� 8\JXODQDQ� 6WUDWHMLN�0DOL\HW� <|QHWLPL� 7HNQLNOHUL� 0XKDVHEH� 9H� 'HQHWLPH� %DNÕú�� <ÕO� ���6D\Õ����ùXEDW�������
��� (UVR\�0HKPHW��gPUH�'D\DOÕ�0DOL\HWOHPH� 0g'$9��0XKDVHEH�%LOLP�'�Q\DVÕ�'HUJLVL��&LOW����6D\Õ����+D]LUDQ�������
��� *�QG�]� +�� (UGLQ�� $NDU� dHWLQ�� gOJ�OEDú� 1HUPLQ�� gQFH� 6DLPH�� 6D÷OÕN�NXUXPODUÕQGD� 0DOL\HW� <|QHWLPL�� $QDGROX� hQLYHUVLWHVL� <D\ÕQODUÕ��<D\ÕQ�1R��������(VNLúHKLU�������
��� *�QHú� 5HFHS�� $NVX� øEUDKLP�� 0DPXO� <DúDP� 6H\UL� 0DOL\HWOHPHVL�6�OH\PDQ�'HPLUHO�hQLYHUVLWHVL�� øNWLVDGL�9H� øGDUL�%LOLPOHU�'HUJLVL��&LOW����6D\Õ����������
��� +DUYH\� *��� /LIH�&\FOH� &RVWLQJ�� 5HYLHZ� 2I� 7KH� 7HFKQLTXH��0DQDJHPHQW�$FFRXQWLQJ��2FWREHU�������
���� .DUDND\D� 0HYO�W�� hUHWLP� <DúDP� 6H\ULQGHNL� 'H÷LúLP� 9H� 6WDQGDUW�0DOL\HW�6LVWHPL� 0XKDVHEH�%LOLP�'�Q\DVÕ�'HUJLVL��&LOW����6D\Õ����1LVDQ�������
���� .DUFÕR÷OX� 5HúDW�� 6WUDWHMLN� 0DOL\HW� <|QHWLPL�� 0DOL\HW� 9H� <|QHWLP�0XKDVHEHVLQGH�<HQL�<DNODúÕPODU��$NWLI�<D\ÕQHYL��(U]XUXP�������
���� .DUORV�� $�$UWWR�� /LIH� &\FOH� &RVW�&RQFHSWV� $QG� 0HWKRGRORJLHV�-RXUQDO�2I�0DQDJHPHQW��)DOO��������
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���� .DUWDO� $OL�� 6HYLP� $GQDQ�� *�QG�]� +�� (UGLQ�� 0DOL\HW� 0XKDVHEHVL�$QDGROX�hQLYHUVLWHVL�<D\ÕQODUÕ��(VNLúHKLU�������
���� 0DFHGR�0�&��� 'REURZ� 3�9��� 2¶5RXUNH� -�-���9DOXH�0DQDJHPHQW� )RU�&RQVWXFWLRQ� &KLFKHVWHU��������
���� 6HYLP�$GQDQ�� ³6WUDWHMLN�.DU�<|QHWLPLQGH�dD÷GDú�%LU�$UDo��hU�Q�<DúDP�6H\UL�0DOL\HW�6LVWHPL´��0g'$9�&LOW����6D\Õ����
���� 6KHZFKXN� -RKQ�� /LIH� &\FOH� 7KLQNLQJ� $Q� $SSURDFK� 7R� %HWWHU�%XVLQHVV�'HVLFLRQV�$QG�%HKDYLRUV�7KDW�:LOO�0D[LPL]H�3URILWV� &0$�0DJD]LQH��0D\�����9RO�����øVVXH����
���� ùDNUDN� 0�QLU�� 0DOL\HW� <|QHWLPL�� 0DOL\HW� 9H� <|QHWLP�0XKDVHEHVLQGH�<HQL�<DNODúÕPODU� øVWDQEXO�������
���� 7HN� g�� %D\EDUV�� 3D]DUODPD� øONHOHUL�� *OREDO� <|QHWLPVHO� <DNODúÕP�7�UNL\H�8\JXODPDODUÕ� *HOLúWLULOPLú����%DVNÕ��ø]PLU�������
���� 9DQ� +RUQH�� -DPHV� &�� )LQDQFLDO� 0DQDJHPHQW� $QG� 3ROLF\�� 3UHQWLFH�+DOO��8QLWHG�6WDWHV�2I�$PHULFD��������
���� :RRGZDUG� '�*�� $QG� '(0ø5$ö� ,�� /LIH� &\FOH� &RVWLQJ� &DUHHU�$FFRXQWDQW��1RYHPEHU�������
���� :UÕJKW�'DYLG��$ 3UDFWLFDO�)RXQGDWLRQ�øQ�&RVWLQJ� 5RXGOHGJH�������
���� KWWS����ZHS�VLQJQHW�FRP�VJ�QDWXUH���DOLHQ�KWP�
���� KWWS���ZZZ�JDPF�QVZ�JRY�DY�GRFV�OLIH�F\FOH�FRVWLQJV��
���� KWWS���ZZZ�TJP�TOG�JRY�DX�6333')�
���� ZZZ�JDPF�QVZ�JRY�DX�
�
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